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PROBABILITY

Solved Examples

1. Three persons A, B, and C are to speak at a function
along with 7 other persons. If the persons speak in
random order, the probability that A speak before B and B

speak before C is

3
A —
8


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_tiaCQmVKH3Qe
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D. none

Answer: B

o Watch Video Solution

2. There are 8 stations between two cities A and B. A train
is to stop at three of these 8 stations. The probability that

no two of these three stations are consecutive is


https://dl.doubtnut.com/l/_tiaCQmVKH3Qe
https://dl.doubtnut.com/l/_259YI2iaftlZ

Answer: B

o Watch Video Solution

3. There are 6 letters and 6 addressed envelopes . If the
letters are put at random in the envelopes , the
probability that all the letters may be placed in wrongly

addressed envelopes is

119
120
L
" 120
125
144

11

> 120


https://dl.doubtnut.com/l/_259YI2iaftlZ
https://dl.doubtnut.com/l/_i8PZvapX0XCv

Answer: C

o Watch Video Solution

4.The first twelve letters of English alphabet are written at
random in a line. The probability that there are exactly

four letters in between A and B is

Answer: D

I ° Wiak~hh \NtAdAaA CAliikian



https://dl.doubtnut.com/l/_i8PZvapX0XCv
https://dl.doubtnut.com/l/_hQqq3ocsFUKV
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5. suppose a sample space S consists of 4 elements , S = {
a1, s, a3, anday} , which function defines a probability

functionon S ?

A

P(ay) = 5, Play) = 5, Plag) = 7, Plas) = &
5

P(ar) = 3. P(az) = 7, Pla) = +, Plaw) = 3
g

Play) = 5, Plag) = . Pla) = 5, Play) = 3
0. P(a) = 3 Plaw) = 7, Plas) = 3, Plas) = 0

Answer: C


https://dl.doubtnut.com/l/_hQqq3ocsFUKV
https://dl.doubtnut.com/l/_vMDd8rIBhpV2

° View Text Solution

6. The number of whole number between the smallest

whole number and the greatest three digit number is

A. 1000

B. 999

C. 998

D. none

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_vMDd8rIBhpV2
https://dl.doubtnut.com/l/_QRGgDbeSBHDM

7. Three squares of normal chess board are chosen. Th

probability of getting 3 squares of same colour

¢ 64 x 63 x 62

D. none

Answer: A

° Watch Video Solution

8.1n a town 40% people read a news paper A, 30% people

read another news paper B and 20% people read both. A


https://dl.doubtnut.com/l/_rXrdHBEGDrsV
https://dl.doubtnut.com/l/_KXsJdt0u72MC

person is chosen at random from the town. The

probability that the person chosen read only one paper is

Al/4

B.2/3

C.1/3

D.3/10

Answer: D

° Watch Video Solution

9. At a selection , the probability of selection of A is 2/5
and that of B is 3/7. The probability that both of them

would not be selected is


https://dl.doubtnut.com/l/_KXsJdt0u72MC
https://dl.doubtnut.com/l/_P9tD4IEPGbsR

A.6/35
B.9/35
C.12/35

D.16/35

Answer: C

° Watch Video Solution

10. An antiaircraft gun can take a maximum of three shots
at an enemy plane moving away from it. The probabilities
of hiting the plane at the first, second and third shot are
0.5, 0.3, 0.2 respectively. The probability that the gun hits

the planeiis


https://dl.doubtnut.com/l/_P9tD4IEPGbsR
https://dl.doubtnut.com/l/_7yFCl6FAbHe7

A.0.72

B. 0.488

C. 0.6976

D.0.784

Answer: A

° Watch Video Solution

1. Three persons AB,C in order cut a pack of cards
replacing them after each cut. The person who first cuts a
club shall win a prize. Find the probabilities of their

winning.

A.1/7,3/7,3/7


https://dl.doubtnut.com/l/_7yFCl6FAbHe7
https://dl.doubtnut.com/l/_M0U6gU1moF3c

B.4/7,2/7,1/7

C.16/37,12/37,9/37

D.4/77,3/77,70/7

Answer: C

o Watch Video Solution

12. Bag A contains 6 black and 5 white balls. Bag B contain
4 black and 7 white balls. A die is rolled . If 2 or 5 turns up ,
then choose bag A otherwise choose bag B. If one ball is
drawn from the selected bag.The probability that it is

black is

A.20/39


https://dl.doubtnut.com/l/_M0U6gU1moF3c
https://dl.doubtnut.com/l/_yNj2P4pfGhm2

B.14/33

C.34/89

D. 52/77

Answer: B

° Watch Video Solution

13. A bag contains five balls. Three white balls and 2 black
balls,2 balls are drawn at random . The probability that all
2 balls are white is

Al/2

B.3/10

C.1/4


https://dl.doubtnut.com/l/_yNj2P4pfGhm2
https://dl.doubtnut.com/l/_AQBnRCMfvcKC

D.4/6

Answer: B

° Watch Video Solution

1. The probability of getting two heads when tossing five

coins is

A1/2
B.3/8
C.5/16

D.7/128


https://dl.doubtnut.com/l/_AQBnRCMfvcKC
https://dl.doubtnut.com/l/_28tRwrSH8BiF

Answer: C

° Watch Video Solution

2.The probability of getting exactly 2 tails in 6 tosses of a
fair coin is

A.3/8

B.1/4

C.15/64

D. 49/ 64

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_28tRwrSH8BiF
https://dl.doubtnut.com/l/_jat82ehcVpob

3. The probability of getting atleast two heads, when
tossing a coin three times is..........

A1/8

B.3/8

C.1/2

D.5/8

Answer: C

o Watch Video Solution

4. Six coins are tossed simultaneously . The probability of

getting at least 4 heads is


https://dl.doubtnut.com/l/_HrLe7KG5NlRD
https://dl.doubtnut.com/l/_hw1DtyOZxMX0

A 11
" 64

. 11
32

C.15/44

D.21/32

Answer: B

° Watch Video Solution

5.The probability of getting atmost 4 heads when tossing

7 coins is

A.57 /64

B.99 /128


https://dl.doubtnut.com/l/_hw1DtyOZxMX0
https://dl.doubtnut.com/l/_HxDtwQeSA6zo

C.5/16

D.1/2

Answer: B

o Watch Video Solution

6. An unbaised coin is tossed five times. The odds in favour

of getting atleast one tail is

A.1:31

B.31:1

C.31:32

D.1:32


https://dl.doubtnut.com/l/_HxDtwQeSA6zo
https://dl.doubtnut.com/l/_udlEz8dzCTGi

Answer: B

° Watch Video Solution

7.Six coins are tossed simultaneously . The odds in favour

of getting 2 heads is

A 10:11

B.6:5

C.5:3

D.15:49

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_udlEz8dzCTGi
https://dl.doubtnut.com/l/_QInQZPvQh7Cc

8. Five coins whose face are marked 3, 4 are thrown. The

chance of obtaining a total of 18 is

A1/32

B.1/16

C.3/16

D.5/16

Answer: D

o Watch Video Solution

9. An unbaiseed coin is tossed to get 2 points for tunring

up a head and one point for the tail. If three unbaised


https://dl.doubtnut.com/l/_Qm3RqyWiVRWK
https://dl.doubtnut.com/l/_D8YH6HectntS

coins are tossed simultaneously , then the probability of
getting a total of odd number of points is

Al/2

B.1/4

C.1/8

D.3/8

Answer: A

o Watch Video Solution

10. A fair coin is tossed 100 times. The probability of

getting tails an odd number of times is


https://dl.doubtnut.com/l/_D8YH6HectntS
https://dl.doubtnut.com/l/_FR31l8LX2wyr
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Answer: A

° Watch Video Solution

11. The probability that in a family of 4 children there will

be atleast one boy is

A1/6

B.3/16


https://dl.doubtnut.com/l/_FR31l8LX2wyr
https://dl.doubtnut.com/l/_3X0gzW42Nr43

C.5/16

D.15/16

Answer: D

o Watch Video Solution

12.IF a die is rolled, then the probability of getting an even
number is........

A.1/6

B.1/2

C.5/36

D.2/36


https://dl.doubtnut.com/l/_3X0gzW42Nr43
https://dl.doubtnut.com/l/_EC82l8QLvAZb

Answer: B

o Watch Video Solution

13. The probability of getting a total of 10 in a single throw
of two dice is

A1/9

B.1/12

C.1/6

D.5/36

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_EC82l8QLvAZb
https://dl.doubtnut.com/l/_2qIo8o5nlidu

14. The probability of getting a total score of 7 when two
unbaised dice are thrown simultaneously is

A.7/36

B.29/36

C.1/6

D.5/6

Answer: C

o Watch Video Solution

15. When two dice are thrown, the probability of getting

equal number is...........


https://dl.doubtnut.com/l/_UZWd0Kaqwi0i
https://dl.doubtnut.com/l/_O6pJYD1TUihN

A1/6
B.1/2
C.1/18

D.5/36

Answer: A

° Watch Video Solution

16. When a die is rolled twice. The probability of getting

doublets is

A1/6

B.1/36


https://dl.doubtnut.com/l/_O6pJYD1TUihN
https://dl.doubtnut.com/l/_kfujEuiYsLDJ

C.1/26

D.1/16

Answer: A

o Watch Video Solution

17. Two dice are rolled simultaneously. The probability that
the numbers on them are different is

A.5/6

B.1/4

C.1/2

D.9/13


https://dl.doubtnut.com/l/_kfujEuiYsLDJ
https://dl.doubtnut.com/l/_7JPkdtVqNkg9

Answer: A

° Watch Video Solution

18. Two dice are thrown simultaneously . The probability of
getting even numbers on both the dice is

A1/3

B.1/4

C.1/2

D.9/13

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_7JPkdtVqNkg9
https://dl.doubtnut.com/l/_vGFFU9aKpICk

19. Two dice are rolled simultaneously . The probability of
getting an even number and an odd number is

A.5/6

B.1/4

C.1/2

D.9/13

Answer: C

o Watch Video Solution

20. Six faces of an unbaised die are numbered with

2,3,5,711 and 13. If two such dice are thrown , then the


https://dl.doubtnut.com/l/_yVQgbxZK5AnW
https://dl.doubtnut.com/l/_A02tTF5w26qZ

probability that the sum on the uppermost faces of the
dice is an odd number is

A.5/18

B.5/36

C.13/18

D. 25/36

Answer: A

° Watch Video Solution

21. In an experiment of rolling 2 dice, the probability that,

the dots on the second die is less than that on the first die


https://dl.doubtnut.com/l/_A02tTF5w26qZ
https://dl.doubtnut.com/l/_imxnJkVVOc3r

A.5/12
B.7/12
C.11/36

D.13/34

Answer: A

° Watch Video Solution

22. Three dice are rolled simultaneously . The probability

that the sum of the numbers on them is 6 is

A.1/36

B.5/108


https://dl.doubtnut.com/l/_imxnJkVVOc3r
https://dl.doubtnut.com/l/_fabtaXGzLaqt

C.26/51

D.13/34

Answer: B

o Watch Video Solution

23. Three dice are rolled simultaneously. The probability
that the sum of the numbers on them is 16 is

A.1/36

B.5/108

C.26/51

D.13/34


https://dl.doubtnut.com/l/_fabtaXGzLaqt
https://dl.doubtnut.com/l/_6D4Cw89Lb3Yk

Answer: A

° Watch Video Solution

24. When a die is rolled thrice. The probability of getting
triplet is

A1/6

B.1/36

C.1/26

D.1/16

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_6D4Cw89Lb3Yk
https://dl.doubtnut.com/l/_5CpRCXDIsC0K

25. If three six faced dice are tossed together, then the
probability that exactly two of the three numbers are
equal is

A.165/216

B.177/216

C.51/216

D. 90 /216

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_53AWyalnwuHK

26. If three six faced dice are tossed together, then the
probability that exactly two of the three numbers are

equal is

(k—1)(k—2)

A 432

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_CyF3UxS6xChg

27. If three six faces fair dice are thrown together, then the
probability that the sum of the numbers appearing on the

diceis (p < k < 14)is

A k2 — 21k + 83
' 216

5 k2 + 21k + 83
' 216

c 21k — k% — 83
' 216

5 21k — k2 + 83
' 216

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_JzYw5M3Rn2yk

28. Six faces of a die are marked with numbers 1, -1, 0, -2, 2,
3 and the die is thrown thrice. The probability that the

sum of the numbers thrown is six, is

3
" 216

6
' 216

10
' 216

18

> 432

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_sUTZFrhwOFxM

29. If four dice are thrown together, then the probability

that the sum of the numbers appearing on them is 13, is

5
" 216

11
" 216
35
324

11

> 432

Answer: C

° Watch Video Solution

30. Four tickets marked 00, 01, 10 , 11 respectively are

placed in a bag. A ticket is drawn at random five times


https://dl.doubtnut.com/l/_sMuUquRgJyfd
https://dl.doubtnut.com/l/_EZA4gkSdyDUK

being replaced each time. The probability that the sum of

the numbers on the tickets is 22 is

A2/7

B. 25 /256

C.231/256

D.O

Answer: B

o Watch Video Solution

31.IF a card is drawn from a pack the probability that it is

a king is


https://dl.doubtnut.com/l/_EZA4gkSdyDUK
https://dl.doubtnut.com/l/_BYrijXlO04Xn

A.1/13
B.1/4
C.9/13

D.1/2

Answer: A

° Watch Video Solution

32. When a card is drawn from a pack, the probability of

getting a heart is

A.1/13

B.1/4


https://dl.doubtnut.com/l/_BYrijXlO04Xn
https://dl.doubtnut.com/l/_neAKU9y18aOI

c.9/13

D.1/2

Answer: B

o Watch Video Solution

33. Two cards are drawn from a pack. The probability of
getting two hearts is

Al/4

B.1/13

C.1/221

D.1/17


https://dl.doubtnut.com/l/_neAKU9y18aOI
https://dl.doubtnut.com/l/_FeBTzNWDvmiu

Answer: D

° Watch Video Solution

34. If two cards are drawn from a well shuffled pack, the
probability that atleast one of the two is heart is

A4/13

B.11/13

C.55/221

D.15/34

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_FeBTzNWDvmiu
https://dl.doubtnut.com/l/_lqTEa0ZT8F4W

35. A bag contains 4 black balls and 6 red balls. One ball is
drawn at random. The probability that it is red is

A.5/8

B.3/5

C.1/2

D.1/56

Answer: B

° Watch Video Solution

36. When two balls are drawn from a bag containing 2

white, 4 red and 6 black balls, the chance for both of them


https://dl.doubtnut.com/l/_CJFQR4WYavht
https://dl.doubtnut.com/l/_ICPkqkpsvSdG

to bered is...........

A1/11
B.6/11
c.3/11

D.4/12

Answer: A

° Watch Video Solution

37. A bag contains 5 white, 7 blacks and 4 red balls,3 are
drawn at random . The probability that all the three balls

are white is


https://dl.doubtnut.com/l/_ICPkqkpsvSdG
https://dl.doubtnut.com/l/_Ys9Ej60Lm5m0

A.5/8
B.3/5
C.1/2

D.1/56

Answer: D

° Watch Video Solution

38.In a bag there are ten balls in which three are red. The
probability that there will be atleast one red ball, in a draw
of two balls is

A.2/25

B.3/15


https://dl.doubtnut.com/l/_Ys9Ej60Lm5m0
https://dl.doubtnut.com/l/_s4BqchWIeyNE

C.1/15

D.8/15

Answer: D

° Watch Video Solution

39. From a bag containing 3 red and 5 black balls. One ball

is drawn at random. The odds against for getting a red

ball are

AT:3

B.3:5

C.5:3

D.2:1


https://dl.doubtnut.com/l/_s4BqchWIeyNE
https://dl.doubtnut.com/l/_b18nWZkjZvk6

Answer: C

° Watch Video Solution

40. A bag contain 12 two rupee coins , 7 one rupee coins
and 4 half rupee coins. If 3 coins are selected at random,
then the probability that the sum of the 3 coins is

maximum is

403

230’3

1203

) 2303

12 x 7 x4
2303

D. none

Answer: B


https://dl.doubtnut.com/l/_b18nWZkjZvk6
https://dl.doubtnut.com/l/_Ybf6yuh3Ld5a

° Watch Video Solution

41. A bag contains 12 two rupee coins, 7 one rupee coins
and 4 half rupee coins. If 3 coins are selected at random,
then the probability that the sum of the 3 coins is

minimum is

403

230’3

120:3

) 2303

12 x 7x 4
2303

D. none

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Ybf6yuh3Ld5a
https://dl.doubtnut.com/l/_jXyrdz0fOjm9

42. A coin and six faced die, both unbaised are thrown
simultaneously . The probability of getting a head on the
coin and an odd number on the die is

Al/2

B.3/4

C.1/4

D.2/3

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_jXyrdz0fOjm9
https://dl.doubtnut.com/l/_OF7qT3I5YPbu

43. Two cards are drawn from a pack. The probability that

one of them is a club and the other is not a club is

A.1/36

B.5/108

C.26/51

D.13/34

Answer: D

° Watch Video Solution

44.From a pack of 52 cards, two cards are drawn, the first

being replaced before the second is drawn. The probability


https://dl.doubtnut.com/l/_BRYKND720Iac
https://dl.doubtnut.com/l/_MwqQt5lYMZLA

that the first is a diamond and the second is a king is

Al/4
B.4/13
C.1/52

D.1/104

Answer: C

° Watch Video Solution

45. Three mangoes and three apples are in a box. IF two
fruits are chosen at random the probability that one is a

mango and the other is an apple is.......


https://dl.doubtnut.com/l/_MwqQt5lYMZLA
https://dl.doubtnut.com/l/_0C40gd4e4eMW

A.3/5
B.5/6
C.1/36

D. none

Answer: A

° Watch Video Solution

46. Three balls are drawn at random from collection of 7
white, 12 green and 4 red balls, The probability that each

ball is of different colours is..........

o8
" 253

. 64
253


https://dl.doubtnut.com/l/_0C40gd4e4eMW
https://dl.doubtnut.com/l/_kSblslL80Yfo

c 23
" 253

5 56
" 253

Answer: A

° Watch Video Solution

47. There are two ums. Um A has 3 distinct red balls and
um B has 9 distinct blue balls. From each um two balls are
taken out at random and them transferred to the other .
The number of ways in which this can be done is

A. 3

B.36

C. 66


https://dl.doubtnut.com/l/_kSblslL80Yfo
https://dl.doubtnut.com/l/_TxsvNHVcXtCl

D. 108

Answer: D

o Watch Video Solution

48. A bag contains 12 two rupee coins, 8 one rupee coins,
and 4 half rupee coins. If 3 coins are selected at random,

then the probability that each coins is of different value is

403
24y
1203
24,
12 x 8 x4
24,

D. none


https://dl.doubtnut.com/l/_TxsvNHVcXtCl
https://dl.doubtnut.com/l/_nDcGdiFiCa2h

Answer: C

° Watch Video Solution

49, If 6 cards are drawn at random, from a pack of cards,

then the probability to get 3 red and 3 black cards is

2603 X 26013
5206
1603 % 16013
3206
2803 X 28013
5606

D. none

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_nDcGdiFiCa2h
https://dl.doubtnut.com/l/_sIG25BVmIo5r

50. If 3 cards are drawn from a pack of cards, then the

probability for the cards to be king, a queen and a jack is

52

A. 3203
64

) 5203
78

) 5203
84

) 5203

Answer: B

° Watch Video Solution

51. From a pack of cards, 2 cards are chosen at random.

The probability of the event of having one card as 10


https://dl.doubtnut.com/l/_ncOtbgdtjrpH
https://dl.doubtnut.com/l/_0hQAGnaRmNW8

which is not heart and another a hearts card is

Al/34
B.1/102
C.8/663

D. none

Answer: A

° Watch Video Solution

52. A class has fifteen boys and five girls. Suppose three
students are selected at random from the class. The

probability that there are two boys and one girl is


https://dl.doubtnut.com/l/_0hQAGnaRmNW8
https://dl.doubtnut.com/l/_sce1rx1A9vIM

35
76
35
38

76

35
S 72

Answer: A

° Watch Video Solution

53. Seven balls are drawn simultaneously from a bag
containing 5 white and 6 green balls. The probability of

drawing 3 white and 4 green balls is

7
e,
5C5 + °Cy
110,

A



https://dl.doubtnut.com/l/_sce1rx1A9vIM
https://dl.doubtnut.com/l/_5L7cxpcgYrYU

5C5 - 60y
e,

5Cs +°Cy
e,

C.

D.

Answer: C

o Watch Video Solution

54. Out of the first 25 natural numbers two are chosen at
random. The probability for one of the numbers to be a
multiple of 3 and the other to be a multiple of 5 is

A1/15

B.13/100

C.1/5

D.4/15


https://dl.doubtnut.com/l/_5L7cxpcgYrYU
https://dl.doubtnut.com/l/_kYP0mVxqVfgV

Answer: B

o Watch Video Solution

55. Three houses are available in a locality. Three persons
apply for the houses. Each applies for one house without
consulting others. The probability that all the three apply
for the same house is

A2/9

B.1/9

C.8/9

D.7/9

Answer: B


https://dl.doubtnut.com/l/_kYP0mVxqVfgV
https://dl.doubtnut.com/l/_3ikZlr51nfia

° Watch Video Solution

56. 3 out of 6 vertices of a regular hexagon are chosen at a
time at random. The probability that the triangle formed

with these vertices is an equilateral triangle , is

A
2
8.~
5
¢~
10
p. —
20
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_3ikZlr51nfia
https://dl.doubtnut.com/l/_2U2dQEHxF4pm
https://dl.doubtnut.com/l/_UMPDeYhHN9he

57. If three people are chosen at random, then the
probability that no two of them were born on the same
day of the week is

A.30/49

B.5/49

C.6/49

D. 120343

Answer: A

° Watch Video Solution

58. If four people are chosen at random, then the

probability that no two of them were born in the same day


https://dl.doubtnut.com/l/_UMPDeYhHN9he
https://dl.doubtnut.com/l/_GGgiX6CYxUPN

of the week

A.30/49
B. 203 /225
C.120/343

D.6/49

Answer: C

° Watch Video Solution

59. If three people are chosen ata random, then the
probability that no two of them were born in the same

date of the month of september is


https://dl.doubtnut.com/l/_GGgiX6CYxUPN
https://dl.doubtnut.com/l/_OZnBhs1i0Igs

A.30/49
B. 203 /225
C.120/343

D.6/49

Answer: B

° Watch Video Solution

60. Four person entered the lift cabin on the ground floor
of a 7 floor house. Suppose that each of them
independently and with equal probability can leave the
cabin at any floor beginning with the first. The probability

of all 4 persons leaving at different floors is


https://dl.doubtnut.com/l/_OZnBhs1i0Igs
https://dl.doubtnut.com/l/_s3Zz31fBTaTf

A.5/18
B.7/18
C.6/18

D. none

Answer: A

° View Text Solution

61. An elevator starts with m passengers and stops at n
floors (m < n) The probability that no two passengers

alight at the same floor is

’I’LPm
mn
’an

nm



https://dl.doubtnut.com/l/_s3Zz31fBTaTf
https://dl.doubtnut.com/l/_6jBlp9jKDybs

Answer: B

o Watch Video Solution

62. The probability that in a group of a n people, atleast

two of them will have the same, birthday is

365!

(365 + ) 1365"
365!

(362 — n) 1365™
362!

(362 — n) 1365™

D. none


https://dl.doubtnut.com/l/_6jBlp9jKDybs
https://dl.doubtnut.com/l/_pd9IxEPCplrT

Answer: A

o Watch Video Solution

63. The probability that a leap year have 53 sundays is...........

Al/7
B.2/7
C.5/7

D.6/7

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_pd9IxEPCplrT
https://dl.doubtnut.com/l/_twhCoWpHm5LO
https://dl.doubtnut.com/l/_Q9vZ6LG4DfQD

64. The probability that a leap year will have 52 tuesdays

A1/7
B.3/7
C.2/7

D.5//7

Answer: D

° Watch Video Solution

65. The probability that a non leap year will have 53

Wednesdays is


https://dl.doubtnut.com/l/_Q9vZ6LG4DfQD
https://dl.doubtnut.com/l/_XbMB95aiuSAo

A1/7
B.2/7
C.5/7

D.6/7

Answer: A

° Watch Video Solution

66. The probability that a non leap year will have exactly 52

Mondays is

A1/T7

B.2/7


https://dl.doubtnut.com/l/_XbMB95aiuSAo
https://dl.doubtnut.com/l/_KW7WcFchaw4N

C.5/7

D.6/7

Answer: D

o Watch Video Solution

67. The probability that the 13th day of a randomly chosen
month is a Friday, is

A.1/12

B.1/7

C.1/84

D. none


https://dl.doubtnut.com/l/_KW7WcFchaw4N
https://dl.doubtnut.com/l/_58D8dHQ7Dntm

Answer: C

° Watch Video Solution

68. Card is drawn at random from a pocket of 100 cards
numbered 1 to 100. The probability of drawing a number
which is a cube is

A.1/100

B.2/100

C.1/20

D.3/10

Answer: C

I o Wiak~hh \NtAdAaA CAliikian



https://dl.doubtnut.com/l/_58D8dHQ7Dntm
https://dl.doubtnut.com/l/_c2rxwRBekewL
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69. One number is selected at random from 1 to 900. The
probability that it is a perfect square is

A1/10

B.2/5

C.3/10

D.1/30

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_c2rxwRBekewL
https://dl.doubtnut.com/l/_bwMiZy52POy5

70. The probability that a number selected at random
from the set of numbers {1,2,3,..100} is a cube is

A.1/25

B.2/25

C.3/25

D.4/25

Answer: A

o Watch Video Solution

71. S is a sample space S = (¢ € N:1lx < 100) and E=

(z:z(+1)(xz — 1) € S).Then P(E)=


https://dl.doubtnut.com/l/_TBAKLVu44vxX
https://dl.doubtnut.com/l/_BdPqz1nMk2no

A.1/10
B.2/25
C.99/100

D.1/11

Answer: A

° View Text Solution

72. One number is selected at random from 1 to 100. The

probability that it is a prime number is

Al/4

B.1/4


https://dl.doubtnut.com/l/_BdPqz1nMk2no
https://dl.doubtnut.com/l/_7oLsywaEpQ0N

C.1/8

D.5/14

Answer: B

° Watch Video Solution

73. A card is taken out of a pack of 52 cards numbered 2 to
53. The probability that the number on the card is a prime
less than 20 is.............

A1/13

B.2/13

C.3/13

D.4/13


https://dl.doubtnut.com/l/_7oLsywaEpQ0N
https://dl.doubtnut.com/l/_wNOb7pHHSNg0

Answer: C

° Watch Video Solution

74.The probability of getting a number between 1 and 100

which is divisible by one and itself only is.....

A. 27 /185
B.23/97
C.25/98

D. none

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_wNOb7pHHSNg0
https://dl.doubtnut.com/l/_9vBeQR7Sio2e

75. A number n is chosen at random from (1,2,3 4.,......1000).
The probability that n is a number that leaves remainder 1

when divided by 7 is

AL
" 500

B 143
" 1000

c 2
" 500
71

> 1000

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_jrsWOq66noep

76. A has 3 shares in a lottery containing 3 prizes and 6
blanks . B has two shares in a lottery containing 2 prizes
and 6 blanks . The ratio of their chances of success is

A.3/10

B.2/7

C.5/7

D.7/10

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_u7b9CyhV5Mgx

77. A has 3 shares in a lottery containing 3 prizes and 6

blanks . B has two shares in a lottery containing 2 prizes

and 6 blanks . The ratio of their chances of success is

A.952: 715

B. 274:659

C.113:907

D. 64: 39

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_J1W0cYhISwdq

78. Three electric lamps are fitted in a room. 3 bulbs are
chosen at random from 10 bulbs having 6 good bulbs. The
probability that the room is lighted is

A.29/30

B.49 /50

C.1/10

D.43/66

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_5ZmUTQYj1Y0l

79. Five horses are in a race. Mr. A selects two of the horses
at random and bets on them. The probability that Mr. A
selected the winning horse is

A.3/5

B.1/5

C.2/5

D.4/5

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_76SQuCAESvKf

80. 5 boys and 5 girls sit in a row at random. The
probability that the boys and girls sit alternatively is
A.5/14
B.3/28
C.1/126

D.1/11

Answer: D

o Watch Video Solution

81. Six boys and six girls sit in a row at random. The

probability that the boys and girls sit alternatively is


https://dl.doubtnut.com/l/_41SB01u0rRvr
https://dl.doubtnut.com/l/_N19QbDSC6qLJ

A1/14
B.1/21
C.1/28

D.1/462

Answer: A

° Watch Video Solution

82. 5 boys and 3 girls sit in a row at random. The

probability that no two girls sit together is

A.5/14

B.3/28


https://dl.doubtnut.com/l/_N19QbDSC6qLJ
https://dl.doubtnut.com/l/_3xdcohyeweyt

C.1/26

D.1/11

Answer: A

o Watch Video Solution

83. 7 boys and 3 girls sit in a row at random. The
probability that no two girls come together is

A.5/14

B.3/28

C.1/26

D.7/15


https://dl.doubtnut.com/l/_3xdcohyeweyt
https://dl.doubtnut.com/l/_3VA0iyV494IJ

Answer: D

° Watch Video Solution

84. Seven white balls and three black balls are randomly
arranged in a row. The probability that no two black balls

are placed adjacently is

w >
w| = E|N a|\] |~

N

o

Answer: B

I ° Wiak~hh \NitAdaAaA CAliikian



https://dl.doubtnut.com/l/_3VA0iyV494IJ
https://dl.doubtnut.com/l/_D5XeKhvBEAjo
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85. 8 boys and 4 girls sit in a row at random. The
probability that all the girls come together is

A.1/55

B.3/28

C.1/26

D.1/11

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_D5XeKhvBEAjo
https://dl.doubtnut.com/l/_6cIsJoI08sEg

86. 5 red balls and 4 black balls of different sizes are
arranged in a row at random. The probability that no two
balls of the same colour come together is

A.1/126

B.5/14

C.5/42

D.1/21

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_MjSNywF6EHcT

87. 5 Engineering , 4 Mathematics and 2 Chemistry books
are placed on a shelf at random. The probability that the
books of each kind are all together is

A.1/155

B.2 /255

C.3/1255

D.1/1155

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_dqS4Y7XjwVvq

88.5 boys and 5 girls sit around a round table at random.
The probability that the boys and girls may sit
alternatively is

A.1/126

B.5/14

C.5/42

D.1/21

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_NrQlUbA00NY1

89. 6 boys and 4 girls sit around a table at random. The
probability that all the girls sit together is

A.1/126

B.5/14

C.5/42

D.1/21

Answer: C

o Watch Video Solution

90. 6 boys and 4 girls sit around a table at random. The

probability that all the girls sit together is


https://dl.doubtnut.com/l/_MxDftlpsIDFe
https://dl.doubtnut.com/l/_Zuz6hQY04y9w

A.1/126
B.5/14
C.5/42

D.1/21

Answer: D

° Watch Video Solution

91. 7 red roses and 3 white roses of different sizes be
strung in the form of a garland at random. The probability
that no two white roses come together is

A1/12

B.5/12


https://dl.doubtnut.com/l/_Zuz6hQY04y9w
https://dl.doubtnut.com/l/_eh65Gl6Rl2Gf

C.5/4

D.1/21

Answer: B

° Watch Video Solution

92. If a party of a n persons sit at a round table, then the

odds against two specified individuals sitting next to each

other are

A2:n—3

B.n—3:2

Cn—2:2

D.2:n — 2


https://dl.doubtnut.com/l/_eh65Gl6Rl2Gf
https://dl.doubtnut.com/l/_y4mGw7cfAxzc

Answer: B

° Watch Video Solution

93. Five digit numbers can be formed from the digits
1,2,3,4,5. If one number is selected at random , the
probability that it is an even number is

A4/T

B.2/5

C.7/16

D.1/16

Answer: B

I ° Wiak~hh \NtAdaAaA CAliikian



https://dl.doubtnut.com/l/_y4mGw7cfAxzc
https://dl.doubtnut.com/l/_erhhbiTRfbuk
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94. One number is selected from the four digit numbers
that can be formed from the digits 1,2,3,4,56,7. The
probability that it is an odd number is

A4/T

B.2/5

C.7/16

D.1/16

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_erhhbiTRfbuk
https://dl.doubtnut.com/l/_HrwAjtD1whcs

95. A five digit number is formed by the digits 1,2,3,4,5 with
no digit being repeated. The probability that the number

is divisible by 4, is

gk ow oo o

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_4Gw5z0u8LOg7

96. Five digit numbers can be formed by using 0,2,3,4,5,.
One number is selected at random. The probability that it
is a divisible by 5 is

A4/T

B.2/5

C.7/16

D.1/16

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Lu45T09d9VyN

97. Five digit numbers can be formed by using 0,2,3,4,5,.
One number is selected at random. The probability that it
is a divisible by 5 is

A.7/16

B.1/16

C.1/26

D.7/26

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_csSCtxYRz7VJ

98. A ten digit number is formed using the digits from
zero to nine, every digit being used exactly once. The
probability that the number is divisible by 5 is

A.14/81

B.15/81

C.16/81

D.17/81

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_91ehfPSEt3Y5

99. A 4 digit number made of digits 1,2,3,4,5 is wirtten
down at random without repetition. The probability that
the number so formed is divisible by 6 is

A.9/50

B.10/39

c.2/3

D.1/16

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_nKtSdfQN4hGB

100. Two numbers a and b are chosen at random from the
set of first 30 natural numbers. The probability that
a® — b? is divisible by 3 is

A.9/87

B.12/87

C.15/87

D.47 /87

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ktsCgBsTkNLb

101. Two integers x and y are chosen with replacement out
of the set {0,1,2,3,...10} Then the probability that |[x-y| > 5 is
A.81/121
B.30/121
C.25/121

D. 20 /121

Answer: B

° Watch Video Solution

102. Two numbers are chosen at random from

(1,2,3,4,5,6,7,8) at a time. The probability that smaller of the


https://dl.doubtnut.com/l/_SKVq5c2WjKjO
https://dl.doubtnut.com/l/_NqupikFalQVT

two numbers is less than 4 is

Answer: C

° Watch Video Solution

103. A book has 100 pages. If a page is opened at random,
the probability for the page to have a two digited number

with the same digits is


https://dl.doubtnut.com/l/_NqupikFalQVT
https://dl.doubtnut.com/l/_q3KLBqWVZDQi

A.9/100
B.1/50
C.1/110

D. none

Answer: A

° Watch Video Solution

104. 100 tickets are numbered as 00, 01, 02, ........ 09, 10, 11,
...99. When a ticket is drawn at random from then and if A

is the event of getting 9 as the sum of the numbers on the

ticket, then P(A) =

A.9/100


https://dl.doubtnut.com/l/_q3KLBqWVZDQi
https://dl.doubtnut.com/l/_Pic6s23BUx6d

B.1/10
C.11/100

D.3/25

Answer: B

° Watch Video Solution

105. One hundred cards are numbered from 1 to 100. The

probability that a randomly chosen card has a digits 5 is

A 1
" 100

8 9
" 100

c 19
" 100


https://dl.doubtnut.com/l/_Pic6s23BUx6d
https://dl.doubtnut.com/l/_5Jrie3Kis4R3

D. none

Answer: C

o Watch Video Solution

106. 100 tickets are numbered as 00 ,01, 02, ... 09, 10,
11...99. When a ticket is drawn at random from them and if
b is the event of getting O as the product of the numbers
on the ticket, then P(b) =

A.19/100

B.1/5

C. 21,100

D.11/50


https://dl.doubtnut.com/l/_5Jrie3Kis4R3
https://dl.doubtnut.com/l/_HfJ4niQVHCTj

Answer: A

° Watch Video Solution

107. If two numbers are selected randomly from 20
consecutive natural numbers, find the probability that the
sum of the two numbers is (i) an even number (ii) an odd
number.

A.9/19

B.10/19

c.8/19

D.6/19

Answer: A


https://dl.doubtnut.com/l/_HfJ4niQVHCTj
https://dl.doubtnut.com/l/_VOwbw48jRq03

° Watch Video Solution

108. If two numbers are selected randomly from 20
consecutive natural numbers, find the probability that the
sum of the two numbers is (i) an even number (ii) an odd
number.

A.9/19

B.10/19

C.8/19

D.6/19

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_VOwbw48jRq03
https://dl.doubtnut.com/l/_49eSgfLGVDsi

109. Three integers are chosen at random without
replacement from the first 20 integers. The probability
that the product is odd is

A.17/19

B.2/19

c. ¢, /P,

D. none

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_49eSgfLGVDsi
https://dl.doubtnut.com/l/_9JnW1GLUB9UJ

10. Three integers are chosen at random without
replacement from the first 20 natural numbers. The
probability that the product is even is

A.2/19

B.14/19

C.15/19

D.17/19

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_WdIFi2nec9Fv

111. The numbers 1,2,3,..n are arranged in a random order.

The probability that the digits 1,2,3,....k(k < n) appear as

neighbours in that order is

1

A —

n!

k!

B. —

n!
n—=k)!
c.( )

n!
(n—k+1)!

n!

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_tfpiMfki2mgC

112. The numbers 1,2,3,.n are arranged in a random order.

The probability that the digits 1,2,3,..k(k < n) appear as

neighbours is

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_LTCebBMhRlMI

113. Four numbers are chosen at random from (1,2,3,....40) .

The probability that they are not consecutive is

1
" 2470

4
' 7969

2469
2470

7965

> 7969

Answer: C

° Watch Video Solution

114. A bag contains 50 tickets numbered 12,3,...50 of

which five are drawn at random and arranged in ascending


https://dl.doubtnut.com/l/_HzniyUJ2k9se
https://dl.doubtnut.com/l/_1e67LB7DHuO7

order of magnitude (x; < 3 < 3 < x4 < x5). The

probability that £3=30 is

20 02

50 05

29 02

50 05

20 Cz % 29 02
50 05

D. none

Answer: C

° Watch Video Solution

115. Three persons A, B, and C are to speak at a function

along with 5 other persons. If the person speak in random


https://dl.doubtnut.com/l/_1e67LB7DHuO7
https://dl.doubtnut.com/l/_o3fDg2bcj2YY

order, the probability that A speaks before B and B speaks

before C is

A.3/8
B.1/6
C.3/5

D. none

Answer: B

o Watch Video Solution

116. A single letter is selected at random from the word

PROBABILITY , the probability that it is a vowel is


https://dl.doubtnut.com/l/_o3fDg2bcj2YY
https://dl.doubtnut.com/l/_wkmyvUoLUDKq

A.3/11
B.4/11
c.2/11

D.1/11

Answer: B

° Watch Video Solution

117. The letters of the word TRIANGLE are arranged at
random. The probability that the word so formed starts
with T and ends with R is

A.2/8!

B.6/8!


https://dl.doubtnut.com/l/_wkmyvUoLUDKq
https://dl.doubtnut.com/l/_N7ghfm4b1weE

C.1/28

D.1/56

Answer: D

° Watch Video Solution

118. The letters of the word EQUATION are arranged in a
row at random. The probability that the consonents may

be in the even places is


https://dl.doubtnut.com/l/_N7ghfm4b1weE
https://dl.doubtnut.com/l/_GiI7zNyzRZaq

Answer: A

° Watch Video Solution

119. The letters of the word VICTORY are arranged in a row
at random. The probability that no two vowels may come

together is

A 11
B.5/7
Cc.1/7

D.5/28

Answer: B

I o Wiak~hh \NtAdAaA CAliikian



https://dl.doubtnut.com/l/_GiI7zNyzRZaq
https://dl.doubtnut.com/l/_Y0j7RhKYIzml
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120. The letters of the word TUESDAY are arranged in a row
at random. The probability that vowels may be in odd
places

A.4/35

B.5/28

C.1/7

D.1/30

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Y0j7RhKYIzml
https://dl.doubtnut.com/l/_Pj2WxYMKKEGG

121. The letters of the word MISSISSIPI are arranged in a
row at random . The probability that all S's come together
is

A.4/35

B.5/28

C.1/7

D.1/30

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_G2gCrynMGqXR

122. The letters of the word SUCCESS are arranged in a row
at random. The probability that no two S's may come
together is

A2/T7

B.1/7

C.3/7

D.1/5

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ml5GHjAWWGT3

123. The letter of the word QUESTION are arranged in a
row at random. The probability that there are exactly two
letters between T and N is

A.1/14

B.5/7

C.1/7

D.5/28

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_E7jNs14jPY7g

124. The letters of the word THURSDAY are arranged in a
row at random. The probability that there are exactly two
letters between T and R is

A. 4/35

B.5/28

C.1/7

D.1/30

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_DA8zwLSa3Czp

125. Fifteen person, among whom are A and B, sit down at
random at a round table, the probability that there are
exactly are 4 persons between A and B is

A1/T7

B.2/7

C.3/7

D.4/7

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_lnxU9IlOPANp

126. There are 10 stations between two cities A and B . A
train is to stop at three pf tjese 10 stations . The
probability that no two of these three stations are
consecutive is

A.7/15

B.7/12

C.7/10

D.5/7

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_gWFEeOLRGB5A

127. Out of 10 persons sitting at a round table, three
persons AB and C are selectyed at random. The chance
that no two of these are sitting together is

A.7/12

B.7/10

C.5/7

D.5/12

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_daN5F7FNmIgQ

128. Two friends A and B have equal number of daughters
of A and B . The probability that all the tickets go to
daughters of A is 1/20.The number of daughters each of
them have is

A 4

B.5

C.6

D.3

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_zCsBJPC9M9Jf

129. If a number x is selected from natural numbers 1 to
100, then the probability for 4+ 100 /z > 29 is

A.41/50

B. 39 /50

C.47 /50

D.37/50

Answer: B

o Watch Video Solution

130. The probability that the roots of the equation

n : .
z? + nz + 5 + 3" Oarereal, wheren in Nsucht"n le5,


https://dl.doubtnut.com/l/_PVXHNIW0jbYH
https://dl.doubtnut.com/l/_5nbpYLLWaXVl

Al/5
B.2/5
C.3/5

D.4/5

Answer: C

° Watch Video Solution

131. If an integer p is chosen at random in the interval
0 < p < 5, the probability that the roots of the equation

2 p 1 .
T +px+z+§ = Qarereal,is


https://dl.doubtnut.com/l/_5nbpYLLWaXVl
https://dl.doubtnut.com/l/_rJkRlK9SPHFf

A.1/5
B.2/5
C.2/3

D.4/5

Answer: C

° Watch Video Solution

132. The probability of choosing randomly a number c
from the set (1,2,3,..9) such that the quadratic equation
z? + 4z + ¢ = 0 has real roots s :

A1/9

B.2/9


https://dl.doubtnut.com/l/_rJkRlK9SPHFf
https://dl.doubtnut.com/l/_CUqGrEELeWtC

C.3/9

D.4/9

Answer: D

° Watch Video Solution

133. In a room, there are 6 couples .Out of them if 4 are
chosen at random the probability that they may be 2
couples is

A.2/33

B.1/33

C.1/66

D.32/33


https://dl.doubtnut.com/l/_CUqGrEELeWtC
https://dl.doubtnut.com/l/_gl8Zzo1l7nL2

Answer: B

° Watch Video Solution

134. A team of 8 couples (husband and wife) attend a lucky
draw in which 4 persons picked up for a prize. Then, the
probability that there is atleast one couple is

A.11/39

B.12/39

C.14/39

D.5/13

Answer: D

I ° Wiak~hh \NtAdAaA CAliikian



https://dl.doubtnut.com/l/_gl8Zzo1l7nL2
https://dl.doubtnut.com/l/_BOfo0NabSze7
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135. There are 20 pairs of shoes in a closet. Four shoes are
selected at random. The probability that there is exactly

one pair is

2001 % 1901
4004
2OC1 X 3801
4004
2001 % (3802 . 1901)
4004
2001 . 201
D. —wg,

C.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_BOfo0NabSze7
https://dl.doubtnut.com/l/_s3hIFHtU7GQu

136. If 5 biscuits are distributed among 3 beggers, the
chance that a particular beggar will get 2 biscuits is
A.80/243
B.30/125
C.2/15

D.3/10

Answer:

o Watch Video Solution

137. If 10 sweets are to be distributed among 6 children,

the probability that a particular child gets 4 sweets is


https://dl.doubtnut.com/l/_2h8nRog9UrLC
https://dl.doubtnut.com/l/_RHNCiayYxihN

Answer: A

° Watch Video Solution

138. If 10 balls are to be distributed among 4 boxes, then

the probability for the first box always to contain 4 balls is

1004 X 36
410

B. 1004 X 63
410


https://dl.doubtnut.com/l/_RHNCiayYxihN
https://dl.doubtnut.com/l/_nUvw4ZJoCO7S

1004

D. none

Answer: B

° Watch Video Solution

139. The probability that when 12 balls are distributed

among three boxes, the first will contain three balls is


https://dl.doubtnut.com/l/_nUvw4ZJoCO7S
https://dl.doubtnut.com/l/_p8bMWXKJBHjq

Answer: A

° Watch Video Solution

140. A contest consists of predicting the result (win, draw
and loss) 5 foot ball matches. The probability that an entry
contains at least 3 correct answers is

A.17 /243

B.17/81

C.17/27

D.9/17

Answer: B

I ° \iawr Tavk CAliikian



https://dl.doubtnut.com/l/_p8bMWXKJBHjq
https://dl.doubtnut.com/l/_zF78HyUQWPyU
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141. A letter lock contains 4 rings, each ring containing 5
letters. All possible trails are made to open the lock and
the lock opens in only one way. The probability for the lock
to open is

A.1/20

B.1/625

C.1/1024

D.4/5

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_zF78HyUQWPyU
https://dl.doubtnut.com/l/_BzF1asBu8rKI
https://dl.doubtnut.com/l/_AmQFWj6EBjK3

142. There are 5 letters and 5 addressed envelopes. If the
letters are put at random in the envelopes, the probability
that atleast one letter may be placed in wrongly

addressed envelope is

A 119
120

8 120
" 343

c 1
" 1155

5 139
" 140

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_AmQFWj6EBjK3

143. There are 5 letters and 5 addressed envelopes. If the
letters are put at random in the envelopes , the
probability that all the letters may be placed in wrongly
addressed envelopes is

A.119/120

B.1/120

C.11/30

D.11/120

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_X4nSgdLfElUm

144. If four squares are chosen at random on a chess
board, then the probability that they lie in a diagonal line
is

A.17 /744

B.31/744

C.7/744

D.1/744

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_KVA3UFPSEmgh

145. If four squares are chosen at random on a chess
board, then the probability that they lie in a diagonal line

is

182
ASic,
364

64 C4
504

64 04
252

64 04

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_S2H5p3r3NHyn

146. If 7 squares are chosen at random on a chess board,

the probability that they lie on a diagonal line is

10
A
640,
12
640,
20
640,

D. none

Answer: B

° Watch Video Solution

147. Two squares of a chess board are chosen at random,

the probability that two are of one colour



https://dl.doubtnut.com/l/_zUlBsZKh2k7f
https://dl.doubtnut.com/l/_OOOfXRh3H7Tb

l P Watch Video Solution

148. Three squares of a chess board are chosen at random,
the probability that two are of one colour and one of
another is

A.16/21

B.8/21

C.32/12

D. none

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_OOOfXRh3H7Tb
https://dl.doubtnut.com/l/_wEVpDglz3fWg
https://dl.doubtnut.com/l/_OR3DunvUwz4L

149. A determinant is chosen at random from the set of all
determinants of order 2 with elements O or 1 only. The
probability that the value of the determinant chosen is

positive and nonzero

A.3/8

B3
16

C.1/8

D.1/16

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_OR3DunvUwz4L

150. A determinant is chosen at random from the set of all
determinants of order 2 with elements O or 1 only. The

probability that the determinant chosen is nonzero is

A.3/8

B3
16

C.1/8

D.1/16

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_iyqck8X6MkJ7

151. The number of 3xx3" non-singular matrices, with four

entries as 1 and all other entries as O is

A. less than 4

B.5

C.6

D. at least 7

Answer: A

o Watch Video Solution

152. 3 out of 6 vertices of a regular hexagon are chosen at

a time at random. The probability that the triangle formed


https://dl.doubtnut.com/l/_Rw7olOhKxiQP
https://dl.doubtnut.com/l/_CY0MPkMsIDKs

with these vertices is an equilateral triangle , is

Al/2
B.1/5
C.1/10

D.1/20

Answer: D

° Watch Video Solution

153. A bag contains n white and n black balls. Pairs of balls
are drawn until the bag is empty. The probability that each

pair consists of one white and one black ball is


https://dl.doubtnut.com/l/_CY0MPkMsIDKs
https://dl.doubtnut.com/l/_eshgIaVMxy2m

D. none

Answer: C

o View Text Solution

154. The number of subesets contining atmost 3 elements

that can be picked out from a set of 8 elements is

° Watch Video Solution



https://dl.doubtnut.com/l/_eshgIaVMxy2m
https://dl.doubtnut.com/l/_4cxhnaqBD9V8

155. The number of subesets contining atmost 2 elements

that can be picked out from a set of 8 elements is

° Watch Video Solution

156.S is a set containing n elements. If two subsets A and
B of S picked at random from the set of all subset of S.

Then the probability that A and B have no common

element.

2n Cn
22n

5. (2)
"\ 4
1
C g

A.

D. none


https://dl.doubtnut.com/l/_vedOfhvuEqp8
https://dl.doubtnut.com/l/_1tnOVOEJ3yZR

Answer: B

° Watch Video Solution

157. A mapping is selected at random from the set of all
the mappings of the set of A= {1,2,3,4,5} into itself. The

probability that the mapping selected is a bijection is

o Watch Video Solution

158. A mapping is selected at random from the set of all
the mappings of the set of A= {1,2,3,4} into itself. The

probability that the mapping selected is a bijection is

nn


https://dl.doubtnut.com/l/_1tnOVOEJ3yZR
https://dl.doubtnut.com/l/_B9ebB1jimz2Q
https://dl.doubtnut.com/l/_r1Tcf2kwpfGa

B. m
n—1)!
c ( )
nn—l
n!
D. e
Answer: C

° Watch Video Solution

159. A mapping is selected at random from the set of all
the mappings of the set of A= {1,2,3,4} into itself. The

probability that the mapping selected is a bijection is

1

A
1

T4

B



https://dl.doubtnut.com/l/_r1Tcf2kwpfGa
https://dl.doubtnut.com/l/_seHhXbsf11Ty

Answer: C

o Watch Video Solution

160. Let A and B be two finite sets having m and n
elements respectively such that m > n. A mapping is
selected at random from the set of all mappings from A to

B. The probability that the mapping selected is an injective

mapping is
n!
A
(n —m)!m"»
n!
B.
(n — m)!n™
m
C.



https://dl.doubtnut.com/l/_seHhXbsf11Ty
https://dl.doubtnut.com/l/_sQVjlOKQkQxK

D. none

Answer: D

o View Text Solution

161. A binary operation is chosen at random from the set
of all binary operations on a set A containing n elements.
The probability that the binary operation is commutative

is

n" " (2)
n/2
B. ——
n" " (2)
(n)n/2
" p(n2)/(2)

D. none


https://dl.doubtnut.com/l/_sQVjlOKQkQxK
https://dl.doubtnut.com/l/_sgAM5XTRuOpV

Answer: C

° View Text Solution

162. If three dice are thrown , the probability that they
show the numbers in AP is

A.1/36

B.1/18

C.2/9

D.5/18

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_sgAM5XTRuOpV
https://dl.doubtnut.com/l/_j7FMqsEEJz70

163. Out of (2n+1) tickets consecutively numbered , three
are drawn at random . The chance that the numbers on

them arein AP is

3n
cC.——
4n? — 1
3n
D.
4n? 4+ 2n — 1

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_yTL9lvGsB58N

164. Out of 2n tickets numbered 1,2 ....2n, 3 are chosen at
random. The probability that the numbers on them are in

APis

2
"2n—1
B. —2
3(2n — 1)
3
2n — 1
3
2(2n — 1)

A

C.

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_vgJwXMSipHAG
https://dl.doubtnut.com/l/_yPfi7WZWvr6N

1.1f P(A) =3/4 ,P(B) =2/5, P(A N B)=1/4 thenP(A U B)=

A.9/10
B.10/12
C.23/30

D.5/8

Answer: A

o Watch Video Solution

2. If A and B are two disjoint events such that P(A) = 2/7 ,

P(B)=3/5 then P(A or B)=

A.9/10


https://dl.doubtnut.com/l/_yPfi7WZWvr6N
https://dl.doubtnut.com/l/_77ZWFRrLSoLb

B.31/35
C.23/30

D.5/8

Answer: B

o Watch Video Solution

3. If A and B are two events such that
P(A)=1/4,P(B)=1/2,P(UB) =5/8 then
P(AN B)=

A.3/8

B.1/8

C.2/8


https://dl.doubtnut.com/l/_77ZWFRrLSoLb
https://dl.doubtnut.com/l/_QIlZYinwSeOl

D.5/8

Answer: B

° Watch Video Solution

4, If A and B are two events such that

P(AUB) = 0.65, P(AN B) = 0.15 then
P(A) + P(B)=

A. 0.6

B.0.8

C.1.2

D.14


https://dl.doubtnut.com/l/_QIlZYinwSeOl
https://dl.doubtnut.com/l/_rHxqPwwz7M8X

Answer: C

o Watch Video Solution

5. If P(AUB)=08PANB)=03 then
P(4) + P(B)-

A.09

B.0.3

C.0.7

D.0.6

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_rHxqPwwz7M8X
https://dl.doubtnut.com/l/_LwrHa7DnRHup

6. The probability that at least one of the events A and B
occurs is 0.7 and they occur simultaneously with
probability 0.2. Then P(A) + P(B)=

A.18

B.0.6

C. 11

D.14

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_4v1FC16DjQst

7. If P(A) =025 , P(B)=05, P(ANB)=0.14 then

P(A N B)=

A.0.2
B. 0.39
C.0.5

D.0.6

Answer: B

° Watch Video Solution

8. If AB are

independent

P(ANB) =1/2, P(A) = p, P(B) = 2p,

events

the


https://dl.doubtnut.com/l/_6HmsNsztnfKj
https://dl.doubtnut.com/l/_B0dXTIBsvuwr

value of p is given by

A1/3
B.7/18
C.4/9

D.1/2

Answer: D

° Watch Video Solution

9. If A, B are two mutually exclusive events such that

P(A)=0.5 ,P(B)=0.3 then P(Z N E) —

A.0.2


https://dl.doubtnut.com/l/_B0dXTIBsvuwr
https://dl.doubtnut.com/l/_rhASLa21TTpp

B.0.39

C.0.5

D.0.6

Answer: A

o Watch Video Solution

10. If P(A)=04,P(AUB)=0.7and A,B are
disjoint then P(B)=

A.0.3

B.0.5

C.0.2


https://dl.doubtnut.com/l/_rhASLa21TTpp
https://dl.doubtnut.com/l/_GB4EY4Tr7Bkz

D.0.25

Answer: A

° Watch Video Solution

11.If A and B are events of a random experiment such that
P(AUB) =4/5,P(AUB) =7/(10) and P(B)=2/5

then P(A)=


https://dl.doubtnut.com/l/_GB4EY4Tr7Bkz
https://dl.doubtnut.com/l/_34NMiyOzOR38

Answer: C

° Watch Video Solution

12. Suppose that A and B are two independent events such

3 8
that P(AN B) = 5 and P(A) = 5% Then P(B) =
11
25
8 3
"8

C1
T 11
D9
T 11

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_34NMiyOzOR38
https://dl.doubtnut.com/l/_aVmENj6kGTLg

13. When two dice are thrown , the probability of getting

thesum 7 or 8is

A.7/36

B.1/4

c 11
" 36

D.1/12

Answer: C

° Watch Video Solution

14. When two dice are thrown , the probability of getting

thesum 10 or 11is


https://dl.doubtnut.com/l/_N3avz50nKZk6
https://dl.doubtnut.com/l/_kukOfPwT1J1k

A.7/36
B.5/36
C.5/18

D.7/18

Answer: B

° Watch Video Solution

15. Two fair dice are rolled. The probability of the sum of

digits on their faces to be greater than or equal to 10 is

A1/5

B.1/4


https://dl.doubtnut.com/l/_kukOfPwT1J1k
https://dl.doubtnut.com/l/_sXD1kztofUAM

C.1/8

D.1/6

Answer: D

° Watch Video Solution

16. Two dice are thrown simultaneously. The probability
that the sum of the numbers on them is atleast 9 is
A.11/36
B.1/6
C.11/12

D.5/18


https://dl.doubtnut.com/l/_sXD1kztofUAM
https://dl.doubtnut.com/l/_ArsAqTjpWqgH

Answer: D

° Watch Video Solution

17. Two dice are thrown simultaneously. The probability
that the sum of the numbers on them is atleast 10 is
A.11/36
B.1/6
C.11/12

D.1/54

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ArsAqTjpWqgH
https://dl.doubtnut.com/l/_MYdePIQXcMSJ

18. If two dice are rolled then the probability that their

sum is a prime number is

A.5/12

B.5/6

C.5/36

D.2/5

Answer: A

o Watch Video Solution

19. When a pair of six faced fair dice are thrown, the

probability that the sum of the numbers on the two dice is


https://dl.doubtnut.com/l/_wIP1dwbjNANb
https://dl.doubtnut.com/l/_aqzhKgLFgkXA

greater than 7, is

@ >
Sl = DN = w| =
| | S|cn |

N

o

Answer: B

° Watch Video Solution

20. A and B throw with three dice. If A throws 16, then B's

chance of throwing a greater number is

A.1/36


https://dl.doubtnut.com/l/_aqzhKgLFgkXA
https://dl.doubtnut.com/l/_jqqRJ9VD8W47

B.5 /54
C.11/12

D.1/54

Answer: D

° Watch Video Solution

21. Three dice are thrown simultaneously. The probability
of getting a sum six or less is

A.1/36

B.5/54

C.11/12


https://dl.doubtnut.com/l/_jqqRJ9VD8W47
https://dl.doubtnut.com/l/_fn3Uj8fLBDnD

D.1/54

Answer: B

° Watch Video Solution

22. When 3 dice are thrown simultaneously, the probability

that the sum on the three faces is greater than 16 is



https://dl.doubtnut.com/l/_fn3Uj8fLBDnD
https://dl.doubtnut.com/l/_f2jNSqP4q5QJ

I ° Watch Video Solution

23. A bag contains 4 green , 6 black, and 7 white balls. A
ball is drawn at random. The probability that it is either a
black ball or a white ball is

A.13/17

B.5/7

C.1/8

D.3/4

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_f2jNSqP4q5QJ
https://dl.doubtnut.com/l/_t7PwXQIt4bNJ
https://dl.doubtnut.com/l/_8lUPKLEN8KDf

24.The probability for a contractor to get a road contract
2 5
is 3 and to get a building contract is 9 The probability
4
to get atleast on contract is 5 Find the probability to
get both the contracts.
A.17 /50
B.19/45

C.16/39

D.25/52

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_8lUPKLEN8KDf

25. A card is drawn at random from normal pack of cards.

The probability that it is either a spade and B or a queen

A.1/13
B.4/13
c.1/4

D.13/51

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_u1JhT3pgfyWx

26. The probability of drawing a card which is at least a
spade (or) a king from a well shuffled pack of cards is........
A.1/13
B.4/13
C.1/4

D.13/51

Answer: B

° Watch Video Solution

27. A card is drawn at random from a normal pack of cards.

The probability that it is either red or number card is


https://dl.doubtnut.com/l/_7EMugMuB24O6
https://dl.doubtnut.com/l/_nAnvtX6v9zpV

A.4/13
B.11/13
C.55/221

D.15/34

Answer: B

° Watch Video Solution

28. From a pack two cards are drawn. The probability that

it is either both are black or both are aces is

A4/13

B.11/13


https://dl.doubtnut.com/l/_nAnvtX6v9zpV
https://dl.doubtnut.com/l/_xjNGcAZnZMHa

C.55/221

D.15/34

Answer: C

° Watch Video Solution

29. If one ticket is randomly selected from, tickets
numbered 1to 30 then the probability that the number on
the ticket is a multiple of 50r 7 is

Al/3

B.2/3

C.4/3

D.5/3


https://dl.doubtnut.com/l/_xjNGcAZnZMHa
https://dl.doubtnut.com/l/_VlyvlflrWjgS

Answer: A

° Watch Video Solution

30. The probability of choosing at random a number
divisible by 6 or 8 from among 1to 90 is

A1/6

B.11/90

C.1/30

D.23/90

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_VlyvlflrWjgS
https://dl.doubtnut.com/l/_KLVNBUN9W2mB

31. When a die is thrown the probability of getting an even
number or a multiple of 3 is

A1/2

B.1/3

C.1/6

D.2/3

Answer: D

o Watch Video Solution

32. In a committee of 25 members, each member is

proficient either in Mathematics or in Statistics or in both.


https://dl.doubtnut.com/l/_K7P132iXUrIN
https://dl.doubtnut.com/l/_AkjyXcMKO8Dj

If 19 of these are proficient in Mathematics, 16 in statistics,

find the probability that a person selected from the

committee is proficient in both.

A.04

B.0.8

C.19

D.0.2

Answer: A

o Watch Video Solution

33.In a class there are 60 boys and 30 girls. In it, half of

the boys and half of the girls have squint eyes. If a person


https://dl.doubtnut.com/l/_AkjyXcMKO8Dj
https://dl.doubtnut.com/l/_Sgcb7YtkHiRp

is chosen at random , the probability for the person to be

either a boy or a squint eyed person from girl

Al/4

B.1/8

C.5/6

D.3/4

Answer: C

° Watch Video Solution

34. In a class there are 60 boys and 30 girls . In it, half of

the boys and half of the girls know cricket. The probability


https://dl.doubtnut.com/l/_Sgcb7YtkHiRp
https://dl.doubtnut.com/l/_7ZOAYuSzL2y1

of a person selected from the class is either a boy or a girl
who know cricket is

A5/6

B.8/7

C.5/7

D.7/5

Answer: A

° Watch Video Solution

35. The probabilities of two events A and B are 0.25 and
0.40 respectively. The probability that both A and b occur

is 0.15. The probability that neither A nor B occurs is


https://dl.doubtnut.com/l/_7ZOAYuSzL2y1
https://dl.doubtnut.com/l/_0jwBpr9uo8Ft

A.0.35

B. 0.65

C.0.5

D.0.75

Answer: C

° Watch Video Solution

36. Out of 7 gentlemen and 4 ladies a committee of 5 is to
be formed. The probability that the committee consists of
atleast 2 ladies is

A. 43 /66

B.31/42


https://dl.doubtnut.com/l/_0jwBpr9uo8Ft
https://dl.doubtnut.com/l/_W0ZhjyRyptWd

C.13/41

D.3/10

Answer: A

o Watch Video Solution

37. A committee of five is to be chosen from a group of 9
people. The probability that a certain married couple will
either serve together or not at all is

Al/2

B.5/9

C.4/9

D.2/3


https://dl.doubtnut.com/l/_W0ZhjyRyptWd
https://dl.doubtnut.com/l/_2SmOyot9U0lF

Answer: C

o Watch Video Solution

38. Three groups of children contain 3 girls and one boy, 2
girls and 2 boys , one girl and 3 boys. One child is selected
at random from each group . The probability that the
three selected consist of 1 girl and 2 boys is

A.13/32

B.19/32

C.13/19

D.6/19

Answer: A


https://dl.doubtnut.com/l/_2SmOyot9U0lF
https://dl.doubtnut.com/l/_lEIaWO9KLWUQ

° Watch Video Solution

39. A bag contains 3 white, 3 black, and 2 blue balls. 3 balls
are drawn at random from the bag. The probability of
drawing the three balls of the different colour is

A.3/84

B.9/28

C.1/168

D. none

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_lEIaWO9KLWUQ
https://dl.doubtnut.com/l/_Z0OynEKUUzib
https://dl.doubtnut.com/l/_0k6MlX7W9lKS

40. A letter is taken out at random from 'ASSISTANT' and
another is taken out from 'STATISTICS' . The probability
that they are the same letters is

A.1/45

B.13/90

C.19/90

D. none

Answer: C

° Watch Video Solution

41. A six faced baised die when thrown shows an even

number twice as compared to an odd number. If the die is


https://dl.doubtnut.com/l/_0k6MlX7W9lKS
https://dl.doubtnut.com/l/_KU0z79xTJcxA

thrown twice, the probability that the sum of the two

numbers is even is

A5/9

B.4/9

C.3/9

D.2/9

Answer: A

° Watch Video Solution

42. The odds against an event are 5 to 2 and the odds in
favour of another disjoint event are 3 to 5. Then the

probability that one atleast of the event will happen is


https://dl.doubtnut.com/l/_KU0z79xTJcxA
https://dl.doubtnut.com/l/_HFgzFhbD8EhM

A.29/30
B.49 /50
C.17/50

D. 37 /56

Answer: D

° Watch Video Solution

43.1f AB, and C are three events, then P[A N (BU ()] =

A.P(A) + P(B) + P(C) — P(ANnB) —P(ANCQC)

B.P(A) + P(B) + P(C) — P(B)P(C)

CP(AnB)+P(ANC)—-P(ANBNC)


https://dl.doubtnut.com/l/_HFgzFhbD8EhM
https://dl.doubtnut.com/l/_X4q9qB9WBes6

D.P(BNC)+ P(ANnB)—P(AUBNC(C)

Answer: C

o View Text Solution

44. If P(A) = 04, P(B)=0.5, P(C) =06, P(AN B) = 0.2,
P(BNnC) =03, P(CNA)=025PANBNC)=0.1
then P(LAUBUC) =

A.0.1

B.0.9

C.0.85

D.8


https://dl.doubtnut.com/l/_X4q9qB9WBes6
https://dl.doubtnut.com/l/_OMWESQbk2SFm

Answer: C

° Watch Video Solution

45, The probabilities of three events AB,C are such that
P(A)=0.3, P(B)=0.04,P(C) =0.8 P(A N B) = 0.08
P(ANC) =0.28, P(ANBNC) = 0.09 and
P(AUBUCQC) > 0.75. Show that P(B N C) lies in the

interval [0.23,0.48]
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https://dl.doubtnut.com/l/_OMWESQbk2SFm
https://dl.doubtnut.com/l/_Yei1h6RuhUKx

Answer: A

° Watch Video Solution

46. If 1—|—3P, 1—-2P
3 2

are probabilities of two mutually
exclusive events, then P lies in the interval.

A [1/4,1/3]

B.[1/3,1/2]

C.[1/4,1/2]

D.[1/3,2/3]

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Yei1h6RuhUKx
https://dl.doubtnut.com/l/_KMex8tmyiyiu

47. If A Aand B independent P(Z) = 2/3, then
P(A N B) =2//7 then P(B)

A2/7

B.7/12

C.6/7

D.1/7

Answer: B

° Watch Video Solution

48.1n a class of 125 students, 70 passed in Mathematics, 55

in Statistics and 30 in both. The probability that a student


https://dl.doubtnut.com/l/_h2J2TKE9ZDnK
https://dl.doubtnut.com/l/_TcPc5HpTQiK4

selected at random from the class has passed in only one

subject is

A.13/25

B.3/25

C.17/25

D.8/25

Answer: A

o Watch Video Solution

49. In a town 40% people read Enadu, 25% people read

Jyothi and 15% people read both. A person is chosen at


https://dl.doubtnut.com/l/_TcPc5HpTQiK4
https://dl.doubtnut.com/l/_yA0lwdWNb2Dv

random from the town. The probability that the person

chosen read Enadu but not read jyothi is

Al/4

B.2/3

c.1/3

D.1/10

Answer: A

° View Text Solution

50. A bag contains 3 red, 4 white and 6 blue balls. 3 balls
are drawn at random. The probability that they are of

different colours is


https://dl.doubtnut.com/l/_yA0lwdWNb2Dv
https://dl.doubtnut.com/l/_l72MEsCnj8iI

A.12/13
B.10/33
C.5/22

D.36/143

Answer: D

° Watch Video Solution

51. A bag contains 2 red, 3 black , 4 white balls. 2 balls are
drawn at random . The probability that they are different
colours is

A.13/18

B.1/18


https://dl.doubtnut.com/l/_l72MEsCnj8iI
https://dl.doubtnut.com/l/_MytgLlgsk6IF

C.1/9

D.2/28

Answer: A

o Watch Video Solution

52. An urn contains nine balls of which three are red , four

are blue and two are green. Three balls are drawn at

random without replacement from the wurn. The

probability that the three balls have different colours is
A1/3

B.2/7

c.1/21


https://dl.doubtnut.com/l/_MytgLlgsk6IF
https://dl.doubtnut.com/l/_d0IqFBGoUFXJ

D.2/23

Answer: B

° Watch Video Solution

53. A and B are mutually exclusive events with P(A) =

1
EP(B) and A U B =S, the sample space then P(A) =

A.2/3
B.1/3
C.1/4

D.3/4

Answer: B



https://dl.doubtnut.com/l/_d0IqFBGoUFXJ
https://dl.doubtnut.com/l/_B0RY1DiUcVMM

I ° Watch Video Solution

1
54.If S is a sample space, P(A) = gP(B) and S = AU B,
where A, B are two mutually exclusive events , then P(A) =
Al/4
B.1/2
C.3/4

D.3/8

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_B0RY1DiUcVMM
https://dl.doubtnut.com/l/_Byf13SXHjjPQ

55.0nly one of the two events A and B must occur. If P(A) =
2
§P(B), the odds in favour of B are
Al:2
B.2:1

C.2:3

D.3:2

Answer: A

° Watch Video Solution

56. IF AB,C are three mutually exclusive events of a trial

such that P(A)=2P(B)=3P( C) then P(A)=.......


https://dl.doubtnut.com/l/_h09FHmhM7er7
https://dl.doubtnut.com/l/_i0LXk7goxjxu

A1/3
B.2/5
C.3/8

D.6/11

Answer: D

° Watch Video Solution

57.If A, B, C are mutually exclusive and exhaustive events

such that P(B) = %P(A), P(C) = %P(B) then P(A) =

A.1/3

B.1/2


https://dl.doubtnut.com/l/_i0LXk7goxjxu
https://dl.doubtnut.com/l/_1en7lDSSg8TX

C.3/4

D.1/4

Answer: A

° Watch Video Solution

58.If AB,C are mutually exclusive and exhaustive events of

a random  experiment such that P(B) =

2 P(4) and P(C) = 5 P(B) then P(AUC) =


https://dl.doubtnut.com/l/_1en7lDSSg8TX
https://dl.doubtnut.com/l/_lMaqNUsMMDAb

Answer: C

° Watch Video Solution

59. Two horses A and B run a race. If the probability of A's
win is twice the B then the probability of B's win is

Al/2

B.1/3

C.1/5

D.1/7

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_lMaqNUsMMDAb
https://dl.doubtnut.com/l/_Wke1tPdHV7Ti

60. Three horses A, B and C are in a race, A is twice as likely
to win as B and B is thrice as likely to win as C. What are
their probabilities of winning?

A.6/10,3/10,1/10

B.4/7,2/7,1/7

C.5/10,2/10,3/10

D. none

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_MlwBxNMNwzl9

61. Three students AB,C are to take part in a swimming
competition. The probabilities of As winning or the
probability of B's winning is 3 times the probability of C's
winning. The probability of the event of either B or C to
win is

A.5/14

B.3/7

C.2/7

D.4/7

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Lmhc6eUCBbPB
https://dl.doubtnut.com/l/_Pn44mmOKiVWe

62. In a competition A, B and C are participating . The
probability that A wins is twice that of B, the probability
that B wins is twice that of C. Then the probability that A
loses is

A1/T7

B.2/7

C.4/7

D.3/7

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Pn44mmOKiVWe

1.1f P(A) =2/5, P(A N B) = 3/10 then P(B|A) =

Al/3
B.3/5
C.3/4

D.1/4

Answer: C

° Watch Video Solution

2.1f P(B) = 4/5, P(A N B) =3/10 then P(A|B)=

A1/3


https://dl.doubtnut.com/l/_sCSVRObIM4ky
https://dl.doubtnut.com/l/_HDHcxp0KX08O

B.3/5
C.1/2

D.3/8

Answer: D

o Watch Video Solution

3. If A and B are two events such that P(A) = 0.3, P(B) =0.6
and P(B|A) = 0.5, then P(A|B) =

Al/2

B.1/3

c.1/4


https://dl.doubtnut.com/l/_HDHcxp0KX08O
https://dl.doubtnut.com/l/_H8Kf8SWJcHg6

D.2/3

Answer: C

° Watch Video Solution

4.If A and B are mutually exclusive events with P(B) # 1
then P(A | E) is equal to {Here B is the complement of

the event B)



https://dl.doubtnut.com/l/_H8Kf8SWJcHg6
https://dl.doubtnut.com/l/_2G2S020BXxqc

Answer: D

° Watch Video Solution

5.If C and D are two events such that C C D and P(D)
# 0, then the correct statement among the following is
A1/3
B.1/4
C.2/3

D.3/4

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_2G2S020BXxqc
https://dl.doubtnut.com/l/_76W00OVFW3ZQ

6. £, E, are events of a sample space such that

1 Es 1 E; 1
S (E1> 2’ (Ez) .

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_pZDNW8S23nQm

7. E,, E, are events of a sample sapce such that P(E,)
=1/4 , P(E,|E) =1/2 P(E,| Ey) =1/4. Then
P(E, | B) + P(By | B)=

Al/4

B.1/3

c.1/2

D.3/4

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_2TRnZ0NN8syP

8. There are 20 cards , 10 of these cards have the letter 'I'
printed on them and the other 10 have the letter T
printed on them. If three cards are picked up at random

and kept in the same order, the probability of making
word IIT is

A.4/27

B.5/38

C.1/8

D.9/80

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_QpkHQsGGKtwX
https://dl.doubtnut.com/l/_9ZnmSmm3TWIm

9. Suppose E and F are two events of a random
experiment. If the probability of occurrence of E is 1/5
and the probability of occurrence of F given E is 1/10.
Then the probability of non-occurance of atleast one of

the events Eand F is

A1/18
B.1/2
C.49/50

D.1/50

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_9ZnmSmm3TWIm

10. If A and B are two events such that P(A) = 0.3, P(B) = 0.6
and P(B|A) =0.5,then P(A U B) =

A. 05

B. 0.65

C.0.75

D. 0.85

Answer: C

° Watch Video Solution

1.1f P(A) = 0.7,P(B) = 0.7 and P(B|A) = 0.5, then P(A|B) =

A2/3


https://dl.doubtnut.com/l/_iKD2J9HnLPiS
https://dl.doubtnut.com/l/_r7jsY52WClND

B.3/14
C.4/17

D.3/2

Answer: B

° Watch Video Solution

12. If P(A) = 07, P(B) = 07 and P(B|A) = 0.5, then
P(AUB) =

A.0.5

B. 0.65

C.0.75


https://dl.doubtnut.com/l/_r7jsY52WClND
https://dl.doubtnut.com/l/_HY1xRiLNj99h

D. 0.85

Answer: D

° Watch Video Solution

13. If A and B are two events such that P(A|B) =06 ,
P(B|A)=03, P(A) = 01, then P(A U B) =

A.0.88

B.0.12

C.0.6

D.04

Answer: A



https://dl.doubtnut.com/l/_HY1xRiLNj99h
https://dl.doubtnut.com/l/_0GE44g16BUdC

I o View Text Solution

4. Two events A and B are such that

P(A) = ~P(A| B) = = and P(B | A)

4 4 — 9

Consider the following statements:
_ 3 .
) P(A | B) =7 I1) A and B are mutually exclusive IlI)
P(A | B) + P(A| B) = 1,then
A.Only (1) is correct
B. Only (1) and (Il) are correct

C. Only (1) and (lll) are correct

D. Only (Il) and (ll1) are correct

Answer: A

[ O war_o_L vl e~_ ..



https://dl.doubtnut.com/l/_0GE44g16BUdC
https://dl.doubtnut.com/l/_t123g5ySnsDh

{t T Vvvallll VIGCO oVIuLivrl ] |

15. Two dice are thrown at a time and the sum of the
numbers on them is 6. The probability of getting the
number 4 on any of the dice is

A2/5

B.1/5

C.2/3

D.1/3

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_t123g5ySnsDh
https://dl.doubtnut.com/l/_ROFqj8WzgLyh

16. If two dice are thrown simultaneously, then the sum of
the numbers on them is 7. The probability that 3 is on any
one of them is

A.1/3

B.1/4

c.2/5

D.3/5

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_iNVAQCC14hPg

17. Out of numbers 1,2,3,...9, two numbers are chosen at
random, so that their sum is an even number. The
probability for the two chosen numbers to be odd is

A.3/8

B.5/8

C.3/55

D.2/5

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_rjSgs1cnfhew

18. Three numbers are selected at random without
replacement from the set of numbers {1,2,..n}. The
conditional probability that the third number lies between
the first two, if the first number is known to be smaller
than the second is

A1/6

B.1/3

c.1/2

D. none

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_SeNDcIAA4nWZ
https://dl.doubtnut.com/l/_idTPYBQmfCl1

19. A box contains 100 tickets, numbered 1,2,..100. Two
tickets are chosen at random . It is given that the
maximum number on the two chosen tickets is not more
than 10. The minimum number of them is 5 with

probability

L u
15
B.13/15

C.13/17

D.13/19

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_idTPYBQmfCl1

20. Three numbers are chosen at random without
replacement from {1,23,..8}. The probability that their

minimum is 3, given that their maximum is 6, is

0 @ >

O
o= oo|lw o |-

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_IZoAT98Zt7Li

21. For a biased die the probability for different faces to

turn up are given below.

Face 1 2 3 4 5) 6
Probability 0.1 0.32 0.21 0.15 0.05 0.17

The die is tossed and you are told either face 1 or 2 has

turned up. Then the probability that it is face 1is

A.5/21

B.6/23

C.5/23

D. none

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_oRV2oHeGOcyB
https://dl.doubtnut.com/l/_1j94nra3ZumH

22.In a bag there are 6 red, 4 black balls. From it 2 balls
(without replacement ) are drawn. If the first drawn ball is
known to be red, the probability for the second drawn ball
is also red is

A5/9

B.5/18

C.1/3

D.2/3

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_1j94nra3ZumH

23.1n a class , 40% students study History, 25% Civics and
15% both History and Civics. A student from the class is
selected at random . The probability that he studies
history, if it is known that he studies civics is

A.3/8

B.1/8

C.3/5

D.2/5

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_U7j2nsr6Isra

24. One ticket is selected at random from 100 tickets
numbered 00, 01, 02, ...99. Suppose A and B are the sum
and product of the digits found on the ticket. Then
P(A=7|B=0) is given by

A2/13

B.2/19

C.1/50

D. none

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_DUjdTdWMy5la

25. One ticket is selected at random from 50 tickets
numbered 00, 01, 02, ....49. Then the probability that the
sum of the digites on the selected ticket is 8, given that

the product of these digits is zero, equals

A 1
7
5

B.
1

1
¢ L
50
b.
14

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_4Tk25DcfeQ1F

26. A box contains 10 mangoes out of which 4 are spoiled.
2 mangoes are taken together at random. If one of them is
found to be good, then the probability that the other is
also good, is

Al/3

B.8/15

C.5/13

D.2/3

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_wndzXB6ov7H9

27.1f A, B are two independent events such that P(A) = 3/4,
P(B) =2/5 then P(A U B) =

A.17/20

B.5/6

C.7/10

D.9/10

Answer: A

° Watch Video Solution

28. If AB are two independent events such that P(A) = 0.5,

P(B) = 0.3then P(ANB) =


https://dl.doubtnut.com/l/_bn4EC2Unq9oY
https://dl.doubtnut.com/l/_17hkKTS58x5C

A.0.55

B.0.2

C.04

D.0.35

Answer: D

° Watch Video Solution

29.1f P(A) = 0.4, P(A U B) = 0.8 and AB are independent

then P(B)=

A.0.2

B.0.3


https://dl.doubtnut.com/l/_17hkKTS58x5C
https://dl.doubtnut.com/l/_aUolqNJD7GcR

C.0.5

D.0.6

Answer: D

o Watch Video Solution

30.If A and B are two independent events such that P(B) =
2/7, P(A U B) = 0.8,then P(A)=

A. 0.7

B.0.2

C.03

D.04


https://dl.doubtnut.com/l/_aUolqNJD7GcR
https://dl.doubtnut.com/l/_eegEx7woeaNH

Answer: A

° Watch Video Solution

31. If A and B are two independent events such that
P(ANB) =2/15and P(AN B) = 1/16 then P(B)=
A.1/50r5/6
B.1/6o0r4/5
C.1/40r5/6

D.1/30r3/5

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_eegEx7woeaNH
https://dl.doubtnut.com/l/_k0tnmbcFZadN

32. If A and B are two independent events of a random

1

experiment  such  that P(ANB) = 8 and

P(ANB) = %,then P(A)=

Al/4
B.1/3
C.1/2

D.2/3

Answer: B,C

° Watch Video Solution



https://dl.doubtnut.com/l/_xujnIleeGek5

33. If E;, Ey are independent events in a random
experiment with P(E; N Ey) = 1/8, P(E, N E,) = 3/8
,then P(E;), P(E,) =

Al/2,1/4

B.1/4,1/6

C.1/8,1/4

D.1/12,1/14

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_h6rcKHQDRO4G

34. If Ey, By, are independent events, such that
P(E,NEy) =1/4,P(E; N E,) =1/4, then
P(Ey) + P(Ez) =

Al

B.1/3

C.1/4

D.1/9

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_sbZAcp9hPEjK

35. If FEy,E,, are independent events, such
P(E,NEy) =1/8,P(E;NE,) =1/4 then
P((E1 + P(Ey) =

A.1/25

B. 25 /32

C.1/40

D.1/9

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_S8WGKUE14sGi

36. A and B are two candidates seeking admission in IIT.
The probability that A is selected is 0.5 and the probability

that both A and B are selected is at most 0.3. Then

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_LAuiFxBt9zRi

37 Let A and B be two events such that
P(AcapB) =1/6,P(ANB) =1/4and P(A) = 1/4,
then events A and B are

A. equally likely mutually exclusive

B. equally likely but not independent

C. mutually exclusive and independent

D. independent but not equally likely

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_uZyKgYVVIVYk

38. If A and B are events such that

5 _— 1 1
P(AUB) = E’P( ) = 1 and P(B) = E,thenA and B

are

A. mutually exclusive
B. independent
C. exhaustive events

D. exhausive and independent

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Oe4L1SQiKMBw

39. Let two fair six-faced dice A and B be thrown
simultaneously . If E; is the event that die A shows up four
, B is the event that die B shows up two Ej is the event
that the sum of numbers on both dice is odd, then which
of the following statements is not true ?

A. E; and E; are independent

B. B, and Ej are independent

C. E; and Ej are independent

D. Eq, E5 and Ej are independent

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_EcFxolqSODSk
https://dl.doubtnut.com/l/_mZ5MGSkoq4X0

40. If A(i=1,2,3...n) are n independent events with P(A) =

1
1412

for each 7 , then the probability that none of A,

occur is :

S
|
—

S
S +
—_

S
S +
—_

S
—~ 4+
\)

Answer: D

° Watch Video Solution

41. The probabilities of a problem being solved by two

1 1
students are 3 and 3 The probability of the problem


https://dl.doubtnut.com/l/_mZ5MGSkoq4X0
https://dl.doubtnut.com/l/_s6yfrHokpBCT

being solved is........

A.2/3
B.4/3
C.1/3

D.1

Answer: A

° Watch Video Solution

42. The probability that A can solve a problem is 2/3 and
that B can solve it is 3/4.If both attempt the problem, what

is the probability that the problem gets solved ?


https://dl.doubtnut.com/l/_s6yfrHokpBCT
https://dl.doubtnut.com/l/_5Z1K6TLsFbRj

A.11/12
B.7/12
C.5/12

D.9/12

Answer: A

° Watch Video Solution

43. At a selection, the probability of selection of A is 1/7
and that of B is 1/5. The probability that atleast one of
them would be selected is

A 11/35

B.16/35


https://dl.doubtnut.com/l/_5Z1K6TLsFbRj
https://dl.doubtnut.com/l/_phOXjrVDxzOB

C.24/35

D.32//35

Answer: A

° Watch Video Solution

44. The probability that a boy will get a scholarship is 0.9
and that a girl will get is 0.8. What is the probability none
of them will get the scholarship is

A.0.02

B.0.89

C.043

D. 0.34


https://dl.doubtnut.com/l/_phOXjrVDxzOB
https://dl.doubtnut.com/l/_vUnpSVcQPfty

Answer: A

° Watch Video Solution

45. If the probability for A to fail in one exam is 0.2 and

that for B is 0.3 , then the probability that either A or B

fails is

A.0.14

B.0.6

C.044

D.0.24

Answer: C

I ° Watch Video Solution


https://dl.doubtnut.com/l/_vUnpSVcQPfty
https://dl.doubtnut.com/l/_fsYwVZ2hNNGH

46. The probability that a man will live 10 more years is 1/4
and the probability that his wife will live 10 years is 1/3.
Then the probability that neither will be alive in 10 more
years is

A.5/12

B.1/2

C.7/12

D.11/12

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_fsYwVZ2hNNGH
https://dl.doubtnut.com/l/_Az0Mgrk1yrzZ
https://dl.doubtnut.com/l/_NRAKz3xXOq2Q

47. A man and a woman appear in an interview for
vacancies in the same post. The probability of man's
selection is 1/4 and that of the woman's selection is 1/3.
The probability that none of them will be selected is

A.1/2

B.1/3

C.1/4

D.1/5

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_NRAKz3xXOq2Q

48. A and B are two independent events such that the
1
probability of the both the events to occurs is 5 and the
1

probability of both the events do not occur is 3 Find the
probability of A.

Al1/6

B.1/5

C.1/20r1/3

D.2/5

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_c1wKzJjfwDpF

49. A and B are two independent events. If the probability

that both A and B occur is 1/20 and the probability that

neither of them occurs is 3/5, then P(A)+P(B)=

A.9\20

B.3\20

C.7\20

D. none

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_v0gDwFM8ylcv

50. A problem is EAMCET examination is given to 3
students A, B, and C whose chances of solving it are 1/2,
1/3 , and 1/4 respectively. The probability that the problem

will be solves is

A.3/4
B.1/24
c.1/4

D. 23/24

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_qhiMD276CmCI

51. The probabilities of solving a problem by three

students AB,C independently are The

374’5
probability that the problems will be solved is.........
A.1/60
B. 36/60

C.48/60

D.57/60

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_edEJg5aXPPUP

52. The probabilities of a problem being solved by three
students are 1/3 , 1/4 and 1/6 . The probability of the
problem being solved is

A.2/3

B.11/12

C.7/12

D.10/11

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_tZA5g9MvmnMP

53. AB,C are 3 newspaper from a city. 20% of the
population red A, 16% read B, 14% read C, 8% both A and B,
5% both A and C, 4% both B and C, 2% all the three. Find
the percentage of the populations who read atleast one

newspaper.

A. 25 %

B.30 %

C.35%

D.40 %

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_DBP7RtXNTVQO
https://dl.doubtnut.com/l/_pDfOqo3taun9

54. The odds against A solving a problem are 8 to 6 and
the odds in favour of B solving the same problem are 14 to
10. Then the probability that the problem will be solved if
both of them try the problem is

A.16/21

B. 52/77

c.11/15

D.1/5

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_pDfOqo3taun9

55. The odds against A solving a problem are 3 to 2 and
the odds in favour of B solving the same problem are 5 to
4. Then the probability that the problem will be solved if
both of them try the problem is

A.16/21

B.52/77

c.11/15

D.1/5

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_LeORAnm7sMnU

56. The probability of drawing two black balls in
successsion from a bag containing 4 red and 3 black balls
when the ball that is drawn first is replaced is

A1/T7

B.9/49

C.16/49

D.12/49

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_dSQpMXhvh29x

57. The probability of drawing two red balls in succession
from a bag containing 3 red balls and 4 black balls when
the ball that is drawn is replaced is

A.9/49

B.1/7

c.1/6

D.16/81

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Vxh2afBuTWLJ

58. A bag containing 2 white, 3 black and 4 green balls. If 2
balls are drawn from it, one after another with
replacement then the probability that the first one is
white and the second one is black is

A.5/27

B.1/9

C.2/27

D.4/27

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_BlXP20zLKAnD

59. There are 7 red, and 3 white marbles in an um. If 3
marbles are randomly drawn from it, one after another,
then the probability for the first 2 being, and the third
being white is

A5/6

B.7/40

C.29/40

D.10/39

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_EqPa2FlNa9cH

60. Bag A contains 4 white, 3 black balls. Bag B contains 3
white and 5 black balls. One ball is drawn from each bag.
The probability that both are black is

A.3/14

B.15/56

C.29/56

D.4/5

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_EbUKRjJDeQLV

61. A bag contains 6 white and 4 black balls. Two balls are
drawn at random. The probability that they are of the
same colour is

A.1/15

B.2/5

C.4/15

D.7/15

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_tAzrEM2DQFrM

62. Bag A contains 4 white, 3 black balls. Bag B contains 3
white ad 5 black balls. One ball is drawn from each bag.
The probability that one is white and one is black is
A.3/14
B.15/56

C.29/56

D.4/5

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_nnhfVBxtqQju

63. Three faces of a fair die are yellow, two faces red and
one blue. The die is tossed 3 times. The probability that
the colours, yellow, red and blue appear in the first, second
and the third tosses respectively is

Al/2

B.1/36

C.6/36

D.5/36

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_77YuwsPUCZ8c

64. A card is drawn from a pack at random. After noting
the card it is replaced and the pack is well shuffled . Again
if a card is drawn , the probability of getting a card of
clubs in the first draw and not a queen card in the second

draw is

A.3/13
B.1/13
Cc.1/16

D.3/36

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_jxPhLVaPQXiz
https://dl.doubtnut.com/l/_nVxaXLtXExcX

65. Two cards are drawn successively with replacement
from a well shuffled pack of 52 cards. The probability of
drawing two aces is

A.1/169

B.1/221

C.1/2652

D.4/663

Answer: A

° Watch Video Solution

66. The probability that India wins a cricket match against

England is given to be 1/3.If India and England play 3


https://dl.doubtnut.com/l/_nVxaXLtXExcX
https://dl.doubtnut.com/l/_Z7h3famyE8Ly

matches , what is the probability that India wll loose all

the three matches is

A.8/27

B.6/27

C.9/27

D.1/27

Answer: A

° Watch Video Solution

67. If four whole numbers taken at random are multiplied
together. Then the chance that the last digit in the

productislor3or7or9is


https://dl.doubtnut.com/l/_Z7h3famyE8Ly
https://dl.doubtnut.com/l/_OZeTnqpQJ4uc

A.16 /625
B. 609 / 625
C.323/625

D. none

Answer: A

° Watch Video Solution

68. Four positive integers are taken at random and are

multiplied together. Then the probability that the product

ends in an odd digit other than 5 is

A.609/625

B.16/625


https://dl.doubtnut.com/l/_OZeTnqpQJ4uc
https://dl.doubtnut.com/l/_C1DjGE4vS6Q6

C.2/5

D.3/5

Answer: B

° Watch Video Solution

69. If n positive integers are taken at random and
multiplied together, the probability that the last digit of

the product is 2, 4, 6,0r 8 is

5" — 3"
A———
5?7,
40 — 2"
B. ————
5?7,
3" — 2"
C—
5
3" — 2"
D. ———
4n


https://dl.doubtnut.com/l/_C1DjGE4vS6Q6
https://dl.doubtnut.com/l/_t9UpCeZIz3Of

Answer: A

o View Text Solution

70.The probability that an event A happens in one trial of
an experiment is 0.4. Three independent trials of the
experiment are performed. The probability that the event
A happens atleast once is

A.0.936

B. 0.784

C. 0.904

D. none

Answer: B


https://dl.doubtnut.com/l/_t9UpCeZIz3Of
https://dl.doubtnut.com/l/_Ixa5beuhUa6o

° Watch Video Solution

71. The probability than an event does not happen in one

trail is 0.8. The probability that the event happens atmost

once in three trails is

A. 0.896

B. 0.791

C.0.642

D. 0.592

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Ixa5beuhUa6o
https://dl.doubtnut.com/l/_SIkSXd9Rkba6
https://dl.doubtnut.com/l/_6dhX7var6KRz

72. Numbers are selected at random one at a time from
the two digit numbers 00, 01, 02, 03 ....99 with replacement
. An event E occurs if the product of the 2 digits of a
selected number is 18. If four numbers are selected, the
probability that the event E occurs atleast 3 times is

A. 94 /25

B. 95 /25

C.96 /25

D. 97 / 25

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_6dhX7var6KRz

73. The odds in favour of A winning a game of chess

against B are 5:2. If three games are to be played , then

the odds in favour of A's winning at least one game are

A.335:8

B.8:335

C.335: 343

D. none

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_8qDs28qK9Pk4

74. The probability of winning in a lottery is 0.15. If 4
tickets are purchased in the lottery, the probability of the
event winning atleast one ticket is

A.0.478

B.3/80

C.0.6

D. 0.522

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_DZ5vo2sl9rs3

75. Fifteen coupons are numbered 1,2,3..15 respectively.
Seven coupons are selected at random one at a time with
replacement .The probability that the largest number
appearing on a selected coupon is atmost 9 is

A (9/16)°

B. (8/15)"

C.(3/5)"

D.(9/14)7

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_1IFr2jkxNXAJ

76. A student appears for test I, Il and lll. The student is
successful if he passes, either in tests | and Il or tests | and
lll. The probabilities of the student passing in tests I, Il and
Il are p, g and 1/2 respectively . If the probability that the

student is successful is 1/2 then

A. p=g=1

B. p=q=1/2

C.p=1,g9=0

D. none

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_XKvGvB6A0mKs
https://dl.doubtnut.com/l/_mdo9xM9n7Hyq

77. An antiaircraft gun can take maximum of three shots at
an enemy plane moving away from it. The probabilities of
hitting the plane at the first , second and third shot are
0.5. 0.4 , 0.3 respectively. The probability that the gun hits
the planeiis

A.0.79

B.0.488

C. 0.6976

D.0.784

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_mdo9xM9n7Hyq

78. Mr. A is called for 3 interviews . There are 5 condidate at
the first interview , 4 at the second and 6 at the third. If
the selection of each candidate is equally likely then the
probability that A will be selected for atleast one post is

Al/2

B.1/3

C.1/4

D.1/9

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_R3yS33eAbnXM

79. The probability that a teacher will give an
unannounced test during any class meeting is 1/5. If a
student is absent twice , then the probability that the
students will miss at least one test is

A4/5

B.2/5

C.1/5

D.9/25

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_7yUcmjEt1vEz

80. AB,C are aiming to shoot a balloon. A will succeed 4
times out of 5 attempts. The change of B to shoot the
balloon is 3 out of 4 and that of Cis 2 out of 3. If three aim
the balloon simultaneously, then find the probability that
atleast two of them hit the balloon.

A.8/9

B.1/16

C.5/6

D.1/9

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_qONTm5ZT0mMw
https://dl.doubtnut.com/l/_at55hhFjkS2Z

81. India plays two matches each with West Indies and
Australia . In any match the probabilities of India getting
points, 0,1 and 2 are 0.45, 0.05 and 0.50 respectively .
Assuming that the outcomes are independent , the
probability of getting atleast 7 points is

A.0.875

B. 0.0875

C. 0.0625

D. 0.025

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_at55hhFjkS2Z

82. A multiple choice examination has 5 questions . Each
question has three alternative answers of which exactly
one is correct . The probability that a student will get 4 or
more correct answers just by guessing is :

Al/3

B.1/5

C.3/5

D.1/15

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_9hXCADIwWpQd

8. A: If the probabilities of A and B to pass the
examination are 2 /10, 3 /10 then the probability that only
one of them to pass the examination is 19 /50.
R: If A, B are two events then P(A-B) = P(A)-P(A N B).
A.41/50
B.47/50

C.19/50

D.37/50

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_OR3dKrD88jw8

84.If the probability that A and B will die within a year are
p and q respectively , then the probability that only one of

them will be alive at the end of the year is

A.p+q

B.p+q-2pq

C. p+g-pq

D. p+q+pq

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Aa6vJ1tBvdzF

85. The probability of A solving a problem is 0.3 and the

probability of B solving the problem is 0.6 . The probability

that A solves the problem and B does not solve it is

A. 0.

B.0.2

C.03

D.0.12

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_HDlV1mSDIVYz

86. The probability that A speaks truth is 4/5 , while this
probability for B is 3/4 . The probability that they
contradict each other when asked to speak on a fact is

A.3/20

B.4/5

C.7/20

D.1/5

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_KR8YZYyEC0kv

87. A speaks truth in 80% of the cases and B in 60% of the
cases. The percentage of the cases of which they likely to
contracdict each other in stating the same fact is

A 44 %

B. 55 %

C.80 %

D. 20 %

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_LyOU8sadYKYQ

88. A speaks the truth in 75% of the cases , B in 80% cases.

What is the probability that their statements about an

incident do not match ?

| Ot N DN
ERE IS e

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_OLOYrAQzz2eP

89. For a student the probability of getting a pass in one
paper is 75% and the probability of getting a pass in
another paper is 60% . The probability for the student to
pass in one paper of the two papers) only is

A.3/10

B.13/20

C.11/20

D.9/20

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_BLhqjGthQZdJ

90. There are four machines and it is known that exactly
two of them are faulty . They are tested one by one, in a
random order till the faulty machines are identified . The

the probability that only two tests are needed is

Al/3
B.1/6
C.1/2

D.1/4

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_UtLi81bjtbZq

91. Two person A, B in order cut a pack of cards replacing
them after each out. The person who first cuts a club shall

prize. The probabilities of their winning are

A1/7,3/7
B.4/17,3/17
C.4/17,3/17

D.4/77,3/77

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_XVHdf523Gbyl

92. Two persons A and B toss a die. The person who first
throws 6 first throws 6 wins . If A starts, then the
probability of his winning is

Al/2

B.5/11

C.6/11

D.10/11

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_WvE6XP78ys6X

93. Two persons A and B are rolling die on the condition
that the person who gets 3 will win the game. If A starts
the game, then find the probabilities of A and B

respectively to win the game.

NS
11° 11
g > 6
11° 11
c 8 3
11° 11
b5 8
11° 11
Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_FtQmP8X2DC40

94. Three persons A, B ,C in order toss a die. The person

who first throws 1 or 2 wins. The ratio of the probabilities

of their success is

A.4:6:9

B.6:9:4

C.9:4:6

D.9:6:4

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_5qtrXL9GxAHy

95. AB,C are tossing a coin on the condition that , the
person who gets a Head first, wins the game. If A starts the
game, then the probabilities of A, B and C to win the game
are

A4/7,2/7,1/7

B.2/5,1/5,2/5

C.2/7,3/7,2/7

D.1/5,3/5,1/5

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_jXX3qrnv5Wcr

96. The person, A in order toss a die. The person who

throws 5 or 6 wins. The probabilities of his winning is

A.1/3

o

C.1/4

D.2/3

Answer: A

o Watch Video Solution

97. 2 white balls and 3 blanks balls and 3 blank balls are

placed in a bag and three men draw a ball in succession


https://dl.doubtnut.com/l/_p8zdIwo94cpj
https://dl.doubtnut.com/l/_KeKetGP9YIiL

(the balls drawn not being replaced ) until a white ball is

drawn. The ratio of their respective chances is

A 5:3:2

B.4:1:2

C.4:2:1

D.3:2:5

Answer: A

° View Text Solution

98. Three white balls and five blacks balls are placed in a

bag and three men draw a ball in succession (the balls


https://dl.doubtnut.com/l/_KeKetGP9YIiL
https://dl.doubtnut.com/l/_VdQXwyOPcJ9O

drawn not being replaced) until a white ball is drawn. The

ratio of their respective chances is

A 27:18:11

B.11:18:27

C.18:11:27

D.18:27:11

Answer: A

o View Text Solution

99. A bag contains 6 white and 4 black balls. Two ball are
drawn at random. The probability that they are of the

different colour is



https://dl.doubtnut.com/l/_VdQXwyOPcJ9O
https://dl.doubtnut.com/l/_xHWlZ29XNvKb

I ° Watch Video Solution

100. A fair die is thrown until a score of less than five
points is obtained . The probability of obtaining not less
than two points on the last throw is

A.3/4

B.4/5

C.5/6

D.1/3

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_xHWlZ29XNvKb
https://dl.doubtnut.com/l/_NzqZixZ8vsTA
https://dl.doubtnut.com/l/_H2sGfBwBsmsn

101. A man throws a die until he gets a number bigger
than 3. The probability that he gets another 5 in last
throw

Al/2

B.1/3

C.2/3

D.3/5

Answer: B

° Watch Video Solution

102. On a toss of two dice, A throws a total of 5. Then the

probability that he will throw another 5 before he throws


https://dl.doubtnut.com/l/_H2sGfBwBsmsn
https://dl.doubtnut.com/l/_N6fjpmQBUFvq

7 is

A1/9
B.1/6
C.2/5

D.5/36

Answer: C

° Watch Video Solution

103. A and B throw a pair of dice. A wins if the throws 6
before B throws 7 and B wins if he throws 7 throws 6. If A

begins, his chance of winning is


https://dl.doubtnut.com/l/_N6fjpmQBUFvq
https://dl.doubtnut.com/l/_tlkpYRRF760P

A.5/61
B.30/61
C.35/61

D.60/61

Answer: B

° Watch Video Solution

104. A die is rolled three times, the probability of getting a

larger number than the previous number each time is

A.15/216

B.5/54


https://dl.doubtnut.com/l/_tlkpYRRF760P
https://dl.doubtnut.com/l/_LP2xtBY8uEHg

C.13/216

D.1/18

Answer: B

° Watch Video Solution

105. A man alternately tosses a coin and throws a die
beginning with the coin. The probability that he gets a
head in the coin before he gets a 5 or 6 on the die is

A.3/4

B.1/2

C.1/3

D. none


https://dl.doubtnut.com/l/_LP2xtBY8uEHg
https://dl.doubtnut.com/l/_VuMRsF1vUzVv

Answer: A

° Watch Video Solution

106. In each of a set of games it is 2 to 1 in favour of the
winner of the previous game. The chance that the player
who wins the first game shall win three alteast of the next
4is

A.8/27

B.4/9

C.2/3

D.4/81

Answer: B


https://dl.doubtnut.com/l/_VuMRsF1vUzVv
https://dl.doubtnut.com/l/_keHRsiBuXMFa

° View Text Solution

107. The odds that a books will be reviewed favourably by
three independent critics are 5 to 2,4 to 3 and 3 to 4
respectively. The probability that of the three reviews a
majority will be favourable is

A.209 /343

B.135/343

C. 60,343

D.120/343

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_keHRsiBuXMFa
https://dl.doubtnut.com/l/_cxmYQ8uEW4bE

108. A candidate take three tests in succession and the
probability of passing the first test is p. The probability of
passing ech succeeding test p or % according as he
passes or fails in the preceding one. The candidate is
selected if he passes at least two tests. The probability

that the candidate is selected is

A.p(2 — p)
B.p+ p* + p’
2
C.p°(1—p)
2
D.p"(2 — p)
Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_cxmYQ8uEW4bE
https://dl.doubtnut.com/l/_4B1n9QDEzebH

109. A bag contains 4 tickets numbered 1,2,3,4 and another
bag contains 6 tickets numbered 2,4,6,7,89 . One bag is
chosen and a ticket is drawn . The probility that the ticket
bears the number 4 is

A.1/48

B.1/8

C.5/24

D. none

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_4B1n9QDEzebH
https://dl.doubtnut.com/l/_OFCbL6srgGZH
https://dl.doubtnut.com/l/_qf0x0CZ7rG1L

110. In the first box there re tickets marked with numbers
1,2,3,4 . In the second box there are tickets marked with
number 2,4,6,7,89. If a box is chosen and a ticket is drawn
from it at random, the probability for the number of the

tickettobe 2 or4is

A.9/12
B.5/12
C.5/6

D.1/6

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_qf0x0CZ7rG1L

111. Bag A contain 4 white and 5 blank balls. Bag B contains
5 white and 6 black balls. One bag is selected at random
and a ball is drawn from it. The probability that is is white
is

A.52/77

B. 76/155

C.89/198

D.7/15

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_0DtSsGI47811

112. Bag A contains 3 white and 2 black balls. Bag B
contains 2 white and 4 black balls. One bas is selected at
random and a ball is drawn from it . The probability that is
is white is

A.52/77

B. 76/155

C.89/198

D.7/15

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_FGtRA6UVe7S8

113. Bag A contains 8 black and 5 balls. Contain 6 black and
7 white balls. A die is rolled . If 2 or 5 turns up , then
choose bag a otherwise choose bag B. If one ball is drawn
from the selected bag, the probability that it is black is

A. 20/39

B. 43/90

C.34/89

D.52/77

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_kMENdgULSyJu

114. There are two groups of subjects one of which
consists of 5 Science and 3 Engineering subjects and the
other consists of 3 Science and 5 Engineering subjects. An
unbiased die is cost. If 3 or 5 turns up, a subject is selected
at random from the first group, other wise the subject is
selected at random from the second group. The
probability that an Engineering subject is selected

ultimatly is

A.13/16
B.13/24
C.13/26

D.7/16

Answer: B


https://dl.doubtnut.com/l/_lRHdnyGrF4RK

° View Text Solution

115. Three integers are chosen at random without
replacement from the first 30 natural numbers. The

probability that the product is even is

o Watch Video Solution

116. Three bags contains 3 red, 4 black balls, 4 red, 5 black
balls, 5 red , 2 black balls. If one bas is selected at random
and a ball is drawn from it then the probability that it is

red is

A.100/189


https://dl.doubtnut.com/l/_lRHdnyGrF4RK
https://dl.doubtnut.com/l/_L8ITZMrdr45U
https://dl.doubtnut.com/l/_dMbpvofjdH9o

B. 25/56

C.78/98

D. 20/424

Answer: A

° Watch Video Solution

117. There are 2 white , 4 black balls in urn A, In urn B, there
are 5 white and 7 black balls. If one ball is randomly
replaced from A and B, and a ball is drawn from B then

the probability for the ball to be white one is

A.17/50

B. 19/45


https://dl.doubtnut.com/l/_dMbpvofjdH9o
https://dl.doubtnut.com/l/_jCRxrNlmQgEQ

C.16/39

D. 25/52

Answer: C

o Watch Video Solution

118. A urn A contains 3 white and 5 black balls. Another urn

B contains 6 white and 8 black balls. A ball is picked from A

at random and then transferred to B. Then a ball is picked

at random from B. The probability that it is a white ball is
A.14/40

B.15/40

C.16/40


https://dl.doubtnut.com/l/_jCRxrNlmQgEQ
https://dl.doubtnut.com/l/_q2TTHf7imW41

D. 17/40

Answer: D

o Watch Video Solution

119. Bag A contains 2 red, 3 black balss. Bag B contains 3
red, 2 black balls. One ball is drawn from the bag A and
placed in B. One ball is drawn from the bag B and placed in
A. The probability that the composition of balls in the

bags remain unaltered is

A.17/30
B.13/30

C.7/10


https://dl.doubtnut.com/l/_q2TTHf7imW41
https://dl.doubtnut.com/l/_dOVZCeGzhIsl

D.7/20

Answer: A

° Watch Video Solution

120. Bag A contains 2 red, 3 black balss. Bag B contains 3
red, 2 black balls. One ball is drawn from the bag A and
placed in B. One ball is drawn from the bag B and placed in
A. The probability that the composition of balls in the

bags remain unaltered is

A.3/14

B.17/30

C.13/30


https://dl.doubtnut.com/l/_dOVZCeGzhIsl
https://dl.doubtnut.com/l/_q3IALYT3jbmW

D.20/39

Answer: B

° Watch Video Solution

121. Um A contains 6 red and 4 black balls and um B
contains 4 red and 6 black balls. One ball is drawn at
random from um A and placed in um B. Then one ball is
drawn at random from um B and placed in um A . If one
ball is now drawn from um A, the probability that it is

found to be red is

A.32/55

B. 33 /55


https://dl.doubtnut.com/l/_q3IALYT3jbmW
https://dl.doubtnut.com/l/_odqVGJK4DcQk

C.32/63

D. 25/66

Answer: A

° Watch Video Solution

122. A box contains 3 red and 7 white balls. One ball is
drawn at random and in it placed a ball of the other
colour is placed in the box. Now if one ball is drawn at
random from the box then the probability that it is a red

ball is

A.0.98

B. 0.89


https://dl.doubtnut.com/l/_odqVGJK4DcQk
https://dl.doubtnut.com/l/_nL2XP01JCha3

C.043

D.0.34

Answer: D

° Watch Video Solution

123. A bag contains 5 red , 3 black ball, and another bag
contains 4 red and 5 black balls. One of the bags is chosen
at random and a draw of two balls is made from it . The

chance that one is red and other is black is

) 215
" 504


https://dl.doubtnut.com/l/_nL2XP01JCha3
https://dl.doubtnut.com/l/_PgRbMEOKl2XZ

87
99

Answer: A

o Watch Video Solution

124. A bag contains 16 coins of which two are counterfeit
with heads on both sides. The rest are fair coins . One is
selected at random from the bag and tossed. The
probability of getting a head is

A.9/16

B.11/16

C.5/9

D. none


https://dl.doubtnut.com/l/_PgRbMEOKl2XZ
https://dl.doubtnut.com/l/_OQT2H3kPOypT

Answer: A

o Watch Video Solution

125. A is one of 6 horses entered for a race and is to be
ridden by one of two jockeys P and Q. It is 2 to 1 that P
rides A, in which case all the horses are likely to win. If Q
rides A, his chace is tribled . The odds favour of his
winning are

A.3/13

B.2/11

C.5/17

D.5/18


https://dl.doubtnut.com/l/_OQT2H3kPOypT
https://dl.doubtnut.com/l/_xgZ6laeGNiD1

Answer: D

° Watch Video Solution

126. A is one of 6 horses entered for a race and is to be
ridden by one of two jockeys P and Q. It is 2 to 1 that P
rides A, in which case all the horses are likely to win. If Q
rides A, his chace is tribled . The odds favour of his
winning are

A.5/13

B. 18/5

C.13/18

D.5/18


https://dl.doubtnut.com/l/_xgZ6laeGNiD1
https://dl.doubtnut.com/l/_dWcNzYOk2wmF

Answer:

o Watch Video Solution

127. A bag contains 6 white and 4 black balls.A fair die is
rolled and a number of balls equal to that appearing on
the die is chosen from the bag is random. The probability
that all the balls selected are white is

Al/5

B.1/6

C.1/7

D.1/8

Answer: A


https://dl.doubtnut.com/l/_dWcNzYOk2wmF
https://dl.doubtnut.com/l/_9VZ4316PRSHY

° Watch Video Solution

128. A bag contains 2n coins out of which n-1 are unfair
with heads on both sides and the remaining are fair. One
coin is picked from the bag at random and tossed. If the

41
probability that head falls in the toss is 6 then the

number of unfair coins in the bag is

A.10
B. 1
C.12

D.13

Answer: A

s


https://dl.doubtnut.com/l/_9VZ4316PRSHY
https://dl.doubtnut.com/l/_zGXw2VXWIcAg

l o \Watch vVideo Solution ]

129. A letter is known to have come either from LONDON
or CLIFTON, on the postmark only the two consecutive
letters ON are legible . The probability that is come from
London is

A5/17

B.12/17

C.17/30

D.3/5

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_zGXw2VXWIcAg
https://dl.doubtnut.com/l/_M2sVwANtmkms

130. A bag contains four balls. 3 white balls and 1 black
ball.2 balls are drawn random. The probability that 2 balls
are white is

Al/2

B.3/5

C.1/4

D.4/6

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Uk15WeQ0UdM2

131. A bag contains six balls. Two balls are drawn and
found them to be red. The probability that 5 balls in the
bag arered is

A.5/6

B.2/5

C.1/3

D.1/7

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_3zehvEC1Gp3v

132. An urn contains 5 white and 3 black balls and 4 balls
are drawn at random. The probability of getting white and

black balls equal in number is-

° Watch Video Solution

133. Three boxes numbered, I, II, Il contain balls as follows
White Black Red

I 1 2 3

7 2 1 1

IIT 4 5 3

One box is randomly selected and a ball is drawn from it. If

the ball is red, then the probability that it is from box Il.

A1l/2

B.1/3


https://dl.doubtnut.com/l/_VmdViQxcLQ7w
https://dl.doubtnut.com/l/_9RZzcDCkhaSg

c.1/4

D.1/9

Answer: C

° Watch Video Solution

134. A bag A contains 2 white and 3 red balls and a bag B
contains 4 white 5 red balls One ball is drawn at random
from one of the bags and is found to be red. The
probability that it was drawn from bag B is

A.23/54

B. 25/51

C.25/52


https://dl.doubtnut.com/l/_9RZzcDCkhaSg
https://dl.doubtnut.com/l/_X8m0LxG3WrEG

D.27/55

Answer: C

o Watch Video Solution

135. Fpr L=1,2,3 the box Bj, contains k red balls and (k+1)

) 1 1 1
white balls . Let P(Bl) = 5 ’ P(BQ) = 5, P(B3) = E .
A box is selected at random and a ball is drawn from it . If
a red ball is drawn, then the probability that it has come

from box By is

A.35/78
B. 14/39

c.10/13


https://dl.doubtnut.com/l/_X8m0LxG3WrEG
https://dl.doubtnut.com/l/_xNiLQ1qQOcVR

D."12//13

Answer: B

° Watch Video Solution

136. Box A contains 2 black and 3 red balls, while box B
contains 3 black and 4 red balls . Out of these two boxes
one is selected at random, and the proability of choosing
box A is double that of box B. if a red ball is drawn from
the selected box then the proability that is has come from

box B is

A. 21/41

B.10/31


https://dl.doubtnut.com/l/_xNiLQ1qQOcVR
https://dl.doubtnut.com/l/_uhWCWGvZf6Gw

C.12/31

D.13/41

Answer: B

o Watch Video Solution

137. A ,B ,C are there routes from the house to the office.
On any day, the route slected by the officier is
independent of the climate. On a rainy day, the
probabilities of reaching the office late. Thorugh these
routes are , 1/125,1/10 , 1/4 respectively . If a rainy day, the
officer is late to the office then the probability that the

routes to be B is


https://dl.doubtnut.com/l/_uhWCWGvZf6Gw
https://dl.doubtnut.com/l/_QazW7zvZ7ZPf

A.5/6
B.7/40
C.29/40

D.10/39

Answer: D

° View Text Solution

138. A man is known to speak the truth 3 out of 4 times. He
throws a die and reports tht it a six. The probability that it

is actually a six is

A.3/8

B.2/7


https://dl.doubtnut.com/l/_QazW7zvZ7ZPf
https://dl.doubtnut.com/l/_ndUataVN1pPg

C.1/9

D.4/5

Answer: A

o Watch Video Solution

139. A man speaks truth in 60% cases. He throws a die and
reports that it is a six . The probability that it is actually a
Six is

A.3/8

B.3/13

C.5/6

D.5/8


https://dl.doubtnut.com/l/_ndUataVN1pPg
https://dl.doubtnut.com/l/_3gQrzMljwYwy

Answer: B

° Watch Video Solution

140. A man is known to speack the truth 2 out of 3 times .
He throws a die and reports that it is a six . The probability
that it is actually a six is

A.3/8

B.1/7

C.2/7

D.4/4

Answer: B

I ° Wiak~hh \NtAdAaA CAliikian



https://dl.doubtnut.com/l/_3gQrzMljwYwy
https://dl.doubtnut.com/l/_5vFMxRE4Q5CY
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141. In an entrance test there are multiple choice
questions. There are four possible answers to each
equation, of which one is correct. The probability that a
student knows the answer to a question is 9/10. If he gets
the correct answer to a question, then the probability that

the was guessing is

N
40

Bl
37

Answer: B

| - |


https://dl.doubtnut.com/l/_5vFMxRE4Q5CY
https://dl.doubtnut.com/l/_c06FuM9HZace

l ®J Watch Video Solution

142.In a certain colleage, 4% of men and 1% of women are
taller than 1.8m. Also, 60% of students are women. If a
student selected at random is found to be taller than 1.8
m, then the probability that the student being a woman is
A.3/11
B.5/11

C.6/11

D.8/11

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_c06FuM9HZace
https://dl.doubtnut.com/l/_g2x2FkgYEIJN

Exercise 2 Special Type Questions Set 1

1.1:20 persons among whom A and B sit in random along a
round table. The probability that there are 6 persons
between A and B is 2/19.
ll: Out of 30 consecutive integers 2 are drawn at random.
The probabilty that their sum is odd is 15 /29.

A.Only lis true

B. Only Il is true

C.Both I and Il are true

D. neither | nor Il true

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_XVVsvLb9Tog0

2.In a box containing 15 bulbs, 5 are defective. If 5 bulbs
are selected at random from the box, the probability of

the event that

12
i f them is defective is ——
(i) none of them is defective is 13

(ii) only one of them is defective is 13

131
(iii) atleast one of them is defective is 143

A.Only | is true

B. Only Il is true

C.Only lll is true

D. all are true

Answer: D

N


https://dl.doubtnut.com/l/_XVVsvLb9Tog0
https://dl.doubtnut.com/l/_7FnTbIEJhETL

l o \Watch VvVideo Solution ]

3. Il:In a class 25% of the students failed in Mathematics ,
30% failed in Chemistry and 15% failed in both
Mathematics and Chemistry . If a student is selected at
random failed in Mathematics , the probability that he
failed in Chemistryis 1/2.

ll: A bag contains 10 identical balls of which 4 are blue and
6 are red. 3 balls are taken out at random from the bag
one after the other. The probability that all the 3 balls

drawn are red is 1 /6.

A.Only | is true
B. Only Il is true

C.Both I and Il are true


https://dl.doubtnut.com/l/_7FnTbIEJhETL
https://dl.doubtnut.com/l/_brd5qNB4nFqS

D. neither | nor Il true

Answer: C

o View Text Solution

4. 1: A box contains 20 screws , 5 of which are defective. 2
screws are drawn at random. The probability of event that
neither of the two screws is defective is 21/ 38.

Il: A box contains 5 black, 4 white and 6 red balls. 2 balls
are drawn without replacement. The probability that the
first will be first will be white and the second will be black

is 4 /21.

A.Only lis true


https://dl.doubtnut.com/l/_brd5qNB4nFqS
https://dl.doubtnut.com/l/_Ibfbhrk5gnV6

B.Only Il is true

C.Both I and Il are true

D. neither | nor Il true

Answer: A

° Watch Video Solution

5. An urn A contains 2 white and 3 black balls. Another urn

B contains 3 white and 4 black balls.Out of these two urns,

one is selected at random and a ball is drawn from it. If

the ball drawn is black, then the probability that
21 20

1. ItisomurnAis4—0, II. ItisomurnBis TR Which of

the following statements is correct


https://dl.doubtnut.com/l/_Ibfbhrk5gnV6
https://dl.doubtnut.com/l/_1l56nZFAXWcl

A.Only lis true

B.Only Il is true

C.Both I and Il are true

D. neither | nor Il true

Answer: B

° Watch Video Solution

6.In the random experiment of tossing two unbaised dice
let E be the event of getting the sum 8 and F be the event
getting even numbers on both the dice. Then
I.P(E)=7/361I.P(F)=1/3

Which of the following is a correct statement ?


https://dl.doubtnut.com/l/_1l56nZFAXWcl
https://dl.doubtnut.com/l/_FKz4bCqEdS04

A.Both I and Il are true

B. Neither I nor Il is true

C.lis true, Il is false

D.lis false, Il is true

Answer: B

o Watch Video Solution

Exercise 2 Special Type Questions Set 2

1. the probabilities of getting 3 heads when tossing 7

coins is

A. 21/128


https://dl.doubtnut.com/l/_FKz4bCqEdS04
https://dl.doubtnut.com/l/_MEmuVQD4wDp2

B.35/128

C.45/128

D. 23/128

Answer: B

° Watch Video Solution

2. If a,b,c are the probabilities of getting the sums 6,7,10

when 2 dice are thrown when the ascending order of a,b,c

is

A. ab,c

B.b,c,a

C.ca,b


https://dl.doubtnut.com/l/_MEmuVQD4wDp2
https://dl.doubtnut.com/l/_tdMKrpquaZSb

D.b,a,c

Answer: C

° Watch Video Solution

3. If a,b,c are the probabilities of getting king, heart ,

number card , when a card is drawn from a pack then the

ascending order of a,b,c is

A. ab,c

B.b,c,a

C.cab

D.b,a,c


https://dl.doubtnut.com/l/_tdMKrpquaZSb
https://dl.doubtnut.com/l/_28cAyoXya7Ih

Answer: A

° Watch Video Solution

4. A bag contains 3 red, 4 white, and 5 black balls. One ball
is drawn at random . If ab,c are the probabilities of
drawing a red, a black ball from the bag then the
ascending order of a,b,c is

A. ab,c

B.b,c,a

C.ca,b

D. b,a,c

Answer: A


https://dl.doubtnut.com/l/_28cAyoXya7Ih
https://dl.doubtnut.com/l/_HgkEgNU6rPWE

° Watch Video Solution

5. 5 boys and 3 girls in a row at random. If a is the
probability that all the girls sit together , b is the
probability that all the boys sit together and c is the
probability that all the boys and all the girls sit together
then the ascending order of a,b,c is

A ab,c

B.b,c,a

C.cb,a

D.b,a,c

Answer: A

S


https://dl.doubtnut.com/l/_HgkEgNU6rPWE
https://dl.doubtnut.com/l/_K7X6tFscttgw

[ o \Watch vVideo Solution ]

6. In a race three horses AB,C are taking part. If a,b,c, are

the probabilities of winning of AB,C respectively and a=3b ,

c=3a then the descending order of a,b,c, is

A ab,c

B.b,c,a

C.cab

D.b,a,c

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_K7X6tFscttgw
https://dl.doubtnut.com/l/_848WcrwUsXZX

7. A number n is chosen at random from S ={1,2,3.......50}.
Then correct order of their probabilities is

A.P(A) < P(B) < P(C)

B. P(A) > P(B) > P(C)

C.P(B) < P(A) < P(C)

D. P(A) > P(C) > P(B)

Answer: B

° View Text Solution

8.Let S be the sample space of the random experiment of

throwing simultaneously two unbaised dice with six faces


https://dl.doubtnut.com/l/_q2w7Ff8do1lD
https://dl.doubtnut.com/l/_yZyNQuIVdTn8

(numbered 1to 6) and let E;={(a,b), € S:ab =k} for k > 1

A.p1 < p3p < Pg

B.p3s < pg < P2 < P4

C.p1 <pra <ps < pg

D.p3s < P11 < P < P4

Answer: A

o Watch Video Solution

Exercise 2 Special Type Questions Set 3



https://dl.doubtnut.com/l/_yZyNQuIVdTn8

1. Match the following

1. The probability that a leap year will have 53 sundays is a) 177
[, The probability that a leap year will have exactly 52 sundays is b)2/7
II1. The probability that a nonleap year will have 53 sundays is c)5/7

IV. The probability that a nonleap year will have exactly 52 sundays is ) 6/7

A acdb

B.d,c,b,a

C.b,,ad

D.cb,a,d

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_YOEvIvtO7EN0

2.7 boys and 3 girls sit in a row at random, Match the

following
L. Probability that no 2 girls come together is a) 1760
I1. Probability that all the girls come together is b) 1730
I1I. Probability that all the boys come together is ¢} 1/15

IV. Probability that hovs come together and girls come together is d) 7715

A.a,cdb

B.d,c,b,a

C.b,cd,a

D. c,b,a,d

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_737MN8zGWn9K

3. Match the following

I I P(A) = 3/4, P(B) = 2/5, P(A N B) = 1 /4 then P(A U B) =
1. If P(4) = 1/4, P(B) = 1/2, P(A v B) = 5/8 then P(4 " B) =
11 If P(A) = 1/4, P(B) = 1/2, P(A ~ By = 1/5 then PA N B) =
V. If AU B) =3/4, P(A ~ B) = 1/5 then P(A) + P(B) =

A.a,cd,b

B.d,a,b,c

C.b,cd,a

D.cb,a,d

Answer: B

a) 1/8
b) 9.°20
eV lisdu

d)9/10

° Watch Video Solution



https://dl.doubtnut.com/l/_MSoeA009Tn3l

4. AB,C are 3 mutually exculsive and exhaustive events in a

trail. Match the following

L. If P(A) = 2 P(B) = 3P(C) then P(A) = a) 15/23
I1.1f P(A) = 2P(B) = 2P(C) then P(A) = b) 3/5
LT P(A) = 3P(B) = SP(C) then P(A) = c) 1/2

A. ab,c
B.b,c,a
C.cab

D.b,a,c

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_S1zmvOUueD2l

5. Match the following

1.1ff*(4):z}$,P(AnB)=3x1mhm P(B|A)= a)3/14
[ 1€ P(B) = 4/5, P(A A B) = 3/10 then P(A | B) = b) 3/4
1. 1f P(A) = 07, P(B) = 07, P(B| A) =0-5 then P(A | B)=  ¢) 3/8

A ab,c
B.b,c,a
C.c,ab

D.b,a,c

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ium9wkgJWLlQ

6. Match the following

1. If P(A) = 0-4, P(Au B) = 0-7 and A, B are independent then P(B) =  a) 0-3
I If P(A) = 0-4, P(A wB) = 0.7 and A, B are disjoint then P(B8) = b) 05
1. 1f P(A) = 0-4, P(A v B)Y =07, P(A " B) =03 then P(B) = ¢) 06

A. ab,c

B.b,c,a

C.cab

D.b,a,c

Answer: D

° Watch Video Solution

7. The probabilities of 2 events A and B are 0.25 and 0.40

respectively. The probability that both A and B occur is O.1.


https://dl.doubtnut.com/l/_qqOf4lZaeuo7
https://dl.doubtnut.com/l/_LFOXyVfQ3anY

Match the following

|. The probability that either 4 or B occurs is

[1. The probability that 4 occurs and B does not occur is
[I[. The probability that B occurs and 4 does not occur is

IV. The probability that neither A nor B occurs is

A.a,cd,b

B.d,c,b,a

C.b,cd,a

D.cb,a,d

Answer: C

a) 0-45
b) 0-55
c)0-15
d) 03

o Watch Video Solution

8. Suppose that E; and E, are two events of a random

experiment

such

that


https://dl.doubtnut.com/l/_LFOXyVfQ3anY
https://dl.doubtnut.com/l/_RewiqbC93lks

1 1 1
P(Ey) = 7, P(E; | Bp) = 5 and P(E | Bp) = .

Z7

Observe the lists given below :

List I ListIF
A) P(E,) i) 1/4
B) P (E, v E) i) 5/8
C)P(E, | Ey) i) 178
D) P (E, | £;) iv) 1/2
v)3/8
vi) 3/4

The correct matching of the list | from the list Il is :

A. A-ii, B-iiii, C-vi, D-i

B. A-iv, B-v, C-vi, D-i

C. Ay, B-ii , C-vi, D-i

D. A, B-ii, C-iii, D-iv

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_RewiqbC93lks

9. Let A and B be events in a sample space S such that

P(A)=0.5 , P(B)=04 and P(A U B) = 0.6 . Observe the

following lists :

List I List 11

1) P(4 " B) a) 0-4
i) P(4 "\ B) b) 0-2
i) P(A n B) ¢) 0.3
1v) P(A " B) d) 0-1

° Watch Video Solution

Exercise 2 Special Type Questions Set 4

1. A: There are 4 letters and 4 addressed envelopes. If the

letters are put in the random in the envelopes , the


https://dl.doubtnut.com/l/_RewiqbC93lks
https://dl.doubtnut.com/l/_mfkBDNOxJOhv
https://dl.doubtnut.com/l/_h1p5dwYd6T6e

probability that all the letters may be placed in wrongly
addressed envelopes is 3/8.
R: If n letters are put at random in the n addressed

envelopes , the probability that all the letters may be in

| o1 1 1 (—1)"
wrong envelopes _1_ﬁ + o1 ? + oo+ YR

A.Both A and R are true and R is the correct
explanation of A.

B. Both A and R are true is not correct explanation of A.

C.Alis true but R is false

D. Ais false but R is true

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_h1p5dwYd6T6e
https://dl.doubtnut.com/l/_nvxlhDhecfuL

2. A If P(A) =3/7,PB) =2/7, PLANB) =1/7 then
P(ANB)=4/7
R:If AB, are two events in a sample space S then
P(AUB) =P(A) — P(ANB)
A.Both A and R are true and R is the correct
explanation of A.
B. Both A and R are true is not correct explanation of A.

C.Ais true but R is false

D. Ais false but R is true

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_nvxlhDhecfuL
https://dl.doubtnut.com/l/_X3wQoITfzFhn

3.AIfP(A)=2/7,P(AN B) = 1/5then P(A|B) =7/ 10.
R: If A, B, are two events then
P(ANnB)=P(A)P(B| A)
A.Both A and R are true and R is the correct
explanation of A.
B. Both A and R are true is not correct explanation of A.

C.As true but R is false

D. Ais false but R is true

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_X3wQoITfzFhn

4. A: If the probabilities of A and B to pass the examination
are 2/10, 3/10 then the probability that only one of them
to pass the examination is 19 /50.
R: If A, B are two events then P(A-B) = P(A)-P(A N B).
A.Both A and R are true and R is the correct
explanation of A.
B. Both A and R are true is not correct explanation of A.

C.Ais true but R is false

D. Ais false but R is true

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_KfbccX6OglJu
https://dl.doubtnut.com/l/_ZXP8tiUxESAs

5. Four numbers are chosen at random (without
replacement) from the set {1,2,3,...20}.
Statement -1 : The probability that the chosen number

when arranged in some order will form an AP is e

Statement :2 If the four chosen number form an AP., then

the set of all possible value of common difference is {

+1, +£2, +£3, +£4, + 5}

A. Statement -1 is true , statement -2 is true , statement

-2 is a correct explanation for statement -1

B. statement-1 is true, statement -2 is true , statement

-2 is not a correct explanation for statement -1

C. Statement -1is true, statement -2 is false

D. Statement -1 is false, Statement -2 is true.


https://dl.doubtnut.com/l/_ZXP8tiUxESAs

Answer: C

o View Text Solution
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